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PREVIEW QUESTION BANK(Dual)

Module Name : Physical Education
Exam Date : 13-Jun-2023 Batch : 09:00-12:00

Sr. || Client Question . . Negativ
No. D Question Body and Alternatives Marks Marks

Objective Question

147001 e following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 3

year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

Net National Income (in Lac  |Per capita Net National Income (in
Year

Crore rupees) thousand rupees)
2015- ||, -
16 122 95
2016-
17 136 103
2017- |, - 2
18 151 115
2018-

7 2

19 167 126
2019-
50 177 132

What is the average per capita Net National Income (in thousand rupees) per year?

.103.25
1146
.110.3
.108.6

i &1 715 arfere 7 @ 2015-16 9 2019-20 T 5 AW B 3AY P AR URA DI Fad AP 31 (ORI PRIS E0d T) SR wfdeafaa
fFae YTy 311 (FSIR =0 ) (S TS ¢ | et # 3T Y offpsi & STUR W A< QU 1g yAl & SR &

b =

Lo

- (g TEig o (e |Hidedfdd g TP o (R
RIS Tl H) = H)

2015-16 122 o5

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

ufd o v eafed 3iad Fad AP Sy (§9R =90 H) 31 82

.103.25
. 114.6
.110.3
. 108.6

b =

L

Al
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Objective Question

2 47002 e following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 3

year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

. Net National Income (in Lac  |Per capita Net National Income (in
ear
Crore rupees) thousand rupees)

2015- |14, -
16 122 93
2016- x
17 136 105
2017- [«
1s 151 115
2018-

T 2
19 16 126
2019-
0 177 132

In which year the percentage (%) increase in the Net National Income over the previous year was maximum?

.2019-20
. 2018-19
.2017-18
4.2016-17

el &1 715 drfere # 9 2015-16 9 2019-20 T 5 T9 B 3{AY P SR HRA i (1 AP 3T (A1 S T2 H) 3R Ufdoiad
fFiae g1 3y (@SR Fud 7) s T g | difae § U MY sl & 2UR 0R = 4T 10 el & SR &

o =

S I

- (o apig o (g |wfdedfad fHaa TP o (89R
P FULH) Y )

2015-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

&g o fUse oy @1 garn & Faa g sma & uiiRm (%) 3fs siftaan o

.2019-20
.2018-19
.2017-18
.2016-17

b =

S Y]

Al

A2
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Objective Question

347003 Tpe following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5

year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

i Net National Income (in Lac  |Per capita Net National Income (in
Crore rupees) thousand rupees)

;g B 122 95

%g - 136 105

J;g N 151 115

2018 e 126

gg . 177 132

With reference to the year 2015-16 , the percentage growth in the population of India by the year 2019-20 is

1.~6.2%
2.~44%
3. ~7.1%
4.~ 3.1%

2 778 aifereT 7 9 2015-16 § 201020 TP 5 T B (A & SR YRA B Faa AP 319 (@G PRIs =94 B) 3R dfdeafa
fae It sma (o =R H) quiE TS §) aftet & T g sftesi & sruR R A i Mo v & T &

- o apg o (@rE  |ufdedfad e Ugi o (89IR
CREELLE)! Td H)

2015-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

Ty 2015-16 % Had] . YRd P 8@ § a¥ 2019-20 T% o wfawrd i 532

~6.2%
~4.4%
~T.1%
-

e

o

Al

A2
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Objective Question

4 47004 e following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5

year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

Net National Income (in Lac  |Per capita Net National Income (in
Year

Crore rupees) thousand rupees)
2015- -

22
16 122 95
2016- &
17 136 103
2017- ||, < =
13 151 115
2018-
T 2

19 16 126
2019-
0 177 132

What is the percentage increase (%) in per capita Net National Income during 5 years (i.e 2015-16 to 2019-20 )?

~ 38.94%
~48.24%
~30.61%
~42.40%

=1 €1 778 aferer # @ 2015-16 § 2019-20 TP 5 TN DI 37aTe B TR YR Bi (el AP 341 (ARI BRIg =04 H) 3R Afdedfad
g TPty S (§SIR U2 H) axiig 71 ¢ | difcil 3 3T U sfids! & sMuR R A= T 10wl & IR &

o e

o

- (aa AP 3 (TR |[wifdeatad Haa T S (59,
GRS R =g o)

2015-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

5 NI (31 2015-16 F 2019-20 ) Ufdieafar e AP 2a & fba Ulawd (%) 3fs §52

~ 38.94%
.~ 48.24%
~30.61%
~42.40%

FRiAn

Al

A2

A3
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Objective Question
5
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47005 The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 3
year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

. Net National Income (in Lac  |Per capita Net National Income (in
ear
Crore rupees) thousand rupees)
2015- |14, -
16 122 93
2016- x
17 136 105
2017- [« ;-
1s 151 115
2018-
T 2
19 167 126
2019-
0 177 132

[

. 135.68
. 138:35
3.140.17
4.143.34

21 <1 775 afere # g 2015-16 § 2019-20 TP 5 TN DI 3{afe B SR YR Bi el AP 319 (ARG BHRIg =9d H) 3R Aot
o APt 3 (8R Ea H) g2iE 7S ¢ | difern H 2 1Y sfids! & SR R A 3T 10 el & SR <

Assuming that the per capita Net national Income grows beyond the year 2019-20 at the average annual rate of increase (%) of the perioc
(2015-16 to 2019-20) . what will be its value (in thousand ) at the end of the year 2020-21 7

- (g TP o (e |Hidedfdd g TP 9 (89R
IS T4 H) =l H)

2013-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

b =

L

Al

A2

A3

.135.68
13835
. 140.17
.143.34

g8 U §U fob ad 2019-20 & &1¢ Hfcieafard ae AP1T <1d & gfe ¥ 2015-16 ¥ 2019-20 B 37afd BT A1Hd alitied gfg & (%)
SER gl 6. a1 G8 2020-21 F 3fd T 5UHT I (T9IR =44 H) T8

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_1-100.html 5/65



6/13/23, 6:46 PM 58_Live_PhyEdu_B1_E_1-100.html

3

Aty

4

Objective Question
6 47006 Which of the following are not the characteristics of teacher- centered methods of teaching?

A. Students are passive learners

B. Teachers act as facilitator for learning

C. Teacher directs learning activities

D. Learning is based on collaboration between students
E. Learning is based on student interest

Choose the correct answer from the options given below:

1.LA.C&Donly
2.B & E only

3.B.D&E only
4. A & C only

P oS- faRwand sremge Hisd fRiaor faf 1 foRwand 72 82

A. faemdf fAfSpg siftrmedl €19 1

B. YD ST §q JaTeAddl & =9 F B B o
C. 3D ST Mafafidi @ e fid & o

D. 3fftrTd faenfifal & & gearmers sreila ufear gl
E. 3fforra faemdf sl smuika giar

A feu e fasedi & 9 Ugl 3R &1 90 Dol

1.FFAA, C AR D
2. HIABIIRE
3. %dd B, D 3R E
4.FFAAIARC

Al

A2
A3
A4

4

4
Objective Question

7 47007 Which of the following is a tool used for creating and sharing online learning games?

1. Mentimeter
2. Padlet

3. Kahoot

4. Zoom

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_1-100.html 6/65



6/13/23, 6:46 PM 58_Live_PhyEdu_B1_E_1-100.html

TS ST Gl & gor SR WeeR! § FERiad § 9 $1H-8 SUHR0 &1 FaT a1 oIl 82

1. "fetdier
2. Usde
3. Pgd
4. 9H

Al
A2
A3

Ay

4

Objective Question
8 47008 wwhat are the various salient features of formative evaluation?
A Tt provides feed back to the teachers to use teaching strategies according to the needs of the learners
B. It helps learners to actively and continuously engage in learning
C. It helps in enhancing the learning abilities of the learner
D. It contributes to the overall grading and certification of the learner
E. It 'sums-up' how much a student has learnt over a period of time.

Choose the correct answer from the options given below:

1.B.D & E only
2.C & E only

3.A.B&Conly
4. A &D only

FoToere geaied @ fafay wige faxivand o1 82

A T8 el 1 savgedrsfl & SHR Rier UFETET & T @ 1Y seamus| @1 uiqyfy Uar Sl g
B. Ug franfefal &t srftnms § afghy 3R 999 0 ¥ I &3 & Gedl Hdi g

C. g5 Feniial 3t fem <ad1 &1 geH I Hee dral gl

D. U8 Rrenfiial & g9y ¥ 3R wHoE § 9ieH HRar gl

E. T Rienfiai &1t sramafy & e it %1 9R wgd Rdi g

A feu T famed § 9 981 SR &1 99 Siforu:

1. %94 B, D 3R E
2.Had C IRE
3. HITA. B3R C
4. PITANRD

Al

A2

A3 5

3
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Objective Question

9 47009 Given below are two statements:

Statement I: A learner's cultural background has no impact on his/her learning experience.
Statement II: Gender is not a strong predictor of academic achievement.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement II is true

TRy feumE:

B 1 - el 1 il gy &1 3% T S1d W Hig UG Tol ysdl o
FU 11 : ifiar Ye&foe Tuid o1 ved FuRe T gl

SR Y- & 3{Tale 1, 4 3L fddhedi ¥ 3 9a¥ Iugad IR &1 997 Sifig:

YT AR 1 ST 9T §
HYT IR U SH TEd &
YT IR B, AP HU 1 TEd §
YT 170 &, AT PUT I el ©

[ S

N ¥ ]

Al

A2

A3

Aty
4

Objective Question

10147010 § fatch List T with List TI

LIST I (Three Approaches of LIST II (Disciplinary
Education) aspects)
A [Teacher- centred 1. |Shared, Participatory
B. [Learner- centred II. Imposed
C. |Learning -centred I11. |Self-controlled

Choose the correct answer from the options given below:

AL B-IL. C-1
. A-L B-II. C-III
. A-IL B-I, C-III
. A-IL BAIIL C-1

B
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it 1S 1Y Gl 11 1 fire= Hifeie

RT3 1 (1R1&0 & a1 SURTH

11 ([T STaTH)

A

AP Dlad

Gl
L

RERGEIUN

B.

et i

IL

ERIEG

C.

STERTT B

118

Al

A2

A3

A4

11

oW

1
2
3
4

. A-IIL B-IL. C-I
. A-L B-II. C-III
AL B-I. C-III
A-IT B-IIL. C-I

4

4

Objective Question

.A.B &C only
.B.C & D only
A . C&Donly
AB.C&D

A, Lack of informed consent
B. Physical and psychological harm
C. Excessive inducements
D. Debriefing

i fau U fasedi T 9 TE1 3R &1 984 BIiod :

58_Live_PhyEdu_B1_E_1-100.html

47011 \Which among the following would be the ethical issues in a research study that involves participation of human subjects?

Choose the correct answer from the options given below:

ST SrHY Sea= T T &1 UfayIiTa gidll 8 394 Fmfafad o € $F 9 el dae g8 9w o 8

A, gfa=TiRd geH(d @1 3r4a

B. YNNG 3R FAAIHS JHam

C. 3D YelHA

D. 3G & SR H SHBR] &1 (31 sl

14 fau e fdedl & 9 96l SR &1 =0 DI
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Objective Question

12147012/ \which aspect of the researcher may cause psychosocial effect in the participant of a study?

1
2. Race

3
4, Attitude

Al
A2
A3

Aty

4
Objective Question

13147013 Given below are two statements:
Statement I: In a ratio scale, zero point is arbitrary
Statement IT: The nominal scale allows ordering/ranking of data

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_1-100.html 10/65
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ﬁﬁmmﬂ}ﬁ:ﬁ fog ad=s glaT g

FYA T : A T fegy I

PYF 11 ; AT A9 B st 31 HH HyRe /3w HyRor oo s aearg |
SWRIT DY & el 1, - [3U 7Y fddedl H 3 9a¥ Iuge IR DI 99 Biig:

Y1 AR 1 ST 9T §
HYT 1 AR U SHI TEd &
L HYT I Ul 8. AT HY I TEd §
 BYF 17TeTd o, dlich] YA 1T U8l ©

b2 =

=

Al
A2
A3

Ay

4

Objective Question

Given below are two statements:

Statement I: The standard deviation of a series of repeated measurements estimates the likely size of the chance error in a single
measurement.

Statement II: Bias affects all the measurements the same way. pushing them in the same direction.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I 1s false but Statement II 1s true

TRy

gﬂﬁl : IR-SR [T 70 A9 @1 g1 & A [d=e 9 il U 5Iu- o1 9idifies Fic & GHIdd PR &1 SHTHH I Sk
l

HYF 11 : gare Gt ATl B THE RS I nHIfad FRaT 8. 3% 0P ol 52 H e g

SWRIT Y & el 1, - [3U 7Y fdbedl H 3 9a¥ Sugea IR DI 99 Biig:

Y1 AR 1 ST 9T §
HYT1 AR U SH TEd &
L HYT 19l 8. AT HU I TAd §
L HYT 1A S, AfFT BUT I Tel g

b2 =

= W

Al
A2

A3
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Objective Question

15 147015 A researcher obtains the following p-values for sample correlation coefficients of different samples. Which of these can be considered

significant at 1% level of significance?

A, 0.004
B.0.99
C. 0.995
D. 0.001
B. 01

Choose the correct answer from the options given below:

1.B & C only
2.B.D&E only
.A &D only
.B.C & E only

TS SHYHEd! (A= gicas & uiaas geddy Ui & oy FEfaiad p-m ord Sd1 & | ReieiEd o 9 &8 19 grded
TR W 91a A o Il 52

S )

A.0.004
B.0.99
C. 0.995
D. 0.001
B.0.1

A feu 7T fomedl § 9 981 SR &1 9g4 Bifuly:

1.FaaB AR C
2. $9d B, D IRE
3.99d A 3R D
4. %9 B.C IRE

Al

A2
A3
A4

4

4
Objective Question

16147016  1f information flows from the media to the opinion leaders and from them to the target audience, the process is known as

. One-step-tlow

. Two-step-flow

. Step-by-step flow
. Multi- step flow

[ SR

L
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T 1 1 FaTg HEaT I ifimd woiar a% SR iR 3R afdr damr ae@ i €. o g s s &

1. U% <RI ¥aT8
2. fg R vER
3. TflI® 901 yare
4. §5 IR0 YA

Al

A2

A3

Ay

4

Objective Question

1747017 Erom the view point communicators language and other symbolic systems are

. Inactive tools
. Economic targets
. Social targets
. Cultural fantasies

TUYSD! & VB0 T HINT 3R 37 UdidTHD Junferdr &:

B

1. Ffspa Jgas

2. 31 T

3. WIS IAE

4, D fie R P

Al

A2
A3

Aty
4

Objective Question
18 47018
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Which of the following are true in the case of audience for analog media? They are:

A. Personally addressable
B. Active campaigners

C. large

D. Heterogensous

E. Anonymous

Choose the correct answer from the options given below:

1. A.B. C only
2.B.C.D only
3.A.B.E only
4.C.D, E only

T HifEa & Giar d oee § FEkied 8 4 eH-8 9d 829 8 -

A, TG 9 ¥ gare=y
B. Tfery iftraeasal

C. 9o g o

D. fawm

E. 3

i feu U fadedi O 9 HEl 3R &1 90 SIfoig:

1. PaAA. B IR C
2. $adB, C ARD
3. PATA. B IRE
4. %90 C, D IRE

Al

A2
A3

Aty

4
Objective Question

19147019 Given below are two statements:
Statement I: The centralised control of signs and symbols of mediated communication may affect plurality of opinions on the Internet.
Statement IT: The global corporate owners of Internet companies aim only at profits, not the existence of pluriverse.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true
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9 S pyE Ry E:

T 1 : Tafed THYU & bl 3R Tdieh] BT Pa1gd HIAT se-ic TR Ul I Sgadl I HHIad & Ibdl g |

FYA 11 : S DY P 1RGP BRUNE TS| BT I5¥ Had a1 PAMT BIA1 5. 7 1 Sgaral TR ST ([IRaW) BT 3Kk
A G

TR DY & 3feiie H, 1 13U 7Y fawedl & F 981 TR D1 997 DI

HYTI AR U SH T
HYT1 AR U AT 3T B

PUYT I S, AP T HYT 1 3A ©
PYT 3T R, AP euTnad e

b =

= W

Al
A2
A3

Mg
4
Objective Question
20 47020 Negative communicators usually express
A. Verbal softness
B. Optimism
C. Pessimism

D. Resentment
E. Distrust

Choose the correct answer from the options given below:

.A.B. Conly
.B. C.D only
5 3k )
A

b =

E only
B. E ouly

TPRIHAS YIS JH: d B 8-

S V]

Hi ST T fasedi § 9 el IR BT 99 Bifelg:

1. FFAA. B3R C
2. %dd B, C AR D
3.%dd C, D IRE
4. FPAAA.BIARE

Al

A2
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Objective Question

21 47021 What number would replace question mark (?) in the series given below?

3,8,17.32,57, 2. 177

1. 100
2. 89
3.95
4. 106

2 € 7T S H (2) e & iF WS-8 g8 s

3,8,17,32, 57,2, 177

. 100
89
.95
. 106

ko =

S I

Al
A2
A3

Aty

4
Objective Question

22 47022 1fin a certain code 'Generalization' is written as 52627134819406 . how the word 'Oreganos’ be written in that code?

1. 07521680
2.07251608
3. 07251806
4.72085106

Ilﬁ Tt D HME T 'Generalization' B 52627134810406 & ¥4 T forar ordm % a3y D HMI pij 'Oreganos’ Yeg G| ﬁ GG
SIa?

. 07521680
. 07251608
. 07251806
. 72085106

R

Al
1

A2,
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Objective Question

23 47023 Salary of a person decreases by 10% every year and his bonus increases by 24% every year. If his salary and bonuses at the end of 2020

were Z 8000 and Z 2500 respectively, find the difference between his total earnings in March. 2020 and March 2022.

. Z 165, increase
. Z 176, increase
. Z 180, decrease
. Z 176, decrease

Tt cafdd @1 30 TP ay 10% Tedl § AR ITPT 319 T a9 24% Fadl ol i A/ 2020 & 3id H 39S 37 AR a9
R F. 8000 R . 2500 A 1 A, 2020 3R AT 2022 T 3T Tl 319 & §19 SR I Do

o =

S T

. 165,92

F. 176, 9%
.. 180, HH

=, 176, B!

b2 =

W

Al

A2

A3

Ay

4
Objective Question

24 47024 e population of a village is 11000. If the number of children increase by 11% and the number of adults increase by 20%. the
population becomes 12660, Find the population of children and adults separately in the village.

. 7000. 4000
.4500. 6500
. 6000. 5000
. 5500. 5500

fopeit 7ifa &t SieAT 11000 B 1 A1 Tl @ ST T 11% I df sidl § SR 90! & T@1 H 20% B 9fG il 6. af orae
12660 BT 9Tl &1 39 7iTd § sral 31R qUwh| P1 ST ST ST 31 SIfeiU |

B

. 7000. 4000
. 4500. 6500
. 6000. 5000
. 5500. 5500

[

O P

Al
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Objective Question

25 47025 There are fifteen successive percentage discounts given in a series of 2%. 4%, 6%. 8% on an item. After how many such
percentage discounts in succession will the effective discount be higher than 50% ?

. Tth
. 10th
. 8th
. 6th

fe ! g W 2%, 4%. 6%, 8% 1 el 1 Usg HHNTA Uicd B¢ &l Sl g | Ul a1 shrmTd Uiiid 9ei o u=ard WuTdt
B¢ 50% I 3P gl Sgio

b =

Lo

_7al
. 1odl
. gdl
.6dl

b =

= W

Al
A2
A3

Aty

4

Objective Question
26 47026 1y the light of 'Causation’ which of the following is incorreet?

A, Qualities of cause are accidental antecedents

B. The cause of the cause is not the cause.

C. The co-effects of a cause are themselves causally related

D. Eternal substance like space are not unconditional antecedents.

Choose the correct answer from the options given below:

.A&D only
.B & C only
3. C only

4.B & D only

o =
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PY-BRUT & e T FEfiRad 8§ A o H-91 oY 3/d 82

A. fd R & 701 SiEife gdad B

B. BRUI ] HRUL. HRUITE! &

C. HRUT P Y-HH1T W4 309 § S-SR & T+ ¥ S 8 ¢
D. 3iafel S w=ad uard 3ird gdqd el o

A feu T fa e § 9 981 SR &1 994 Biferg:

1.PaTA&D
2. FGAB&C
3. %A C

4.$PdAB &D

Al
A2
A3
A4

4

4
Objective Question

27 |47027 Identify the fallacy committed in the following argument:

"There must be intelligent life on other planets. No one has proven that there isn't".

1. Appeal to ignorance
2. False alternative

. Slippery slope

. Hasty Generalization

FfeRad gfdd o siiHigd ddamy o1 UgaH Bifo -

<R A5l R i §fEHM siie g1 aifeu) snft 0@ ois oft 7% fag Tl ar v 8 s dwr =i 1

Y]

1. RRHYAS giad

2. g faemeg

3. fhg-Toged g

4. Jfd=g IrE=diEIn

Al
A2
A3

Aty

4

Objective Question

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_1-100.html 19/65



6/13/23, 6:46 PM

28 47028/ ) fatch List I with List T

58_Live_PhyEdu_B1_E_1-100.html

I

LIST I (Fallacies)

| LIST II (Description)

. |Bandwagon Argument] I |Arguer misrepresents an opponent's position.

Strawman Argument

II. JArguer assumes the point to be proven.

[Red herring Argument| IT1. JArguer appeals to reader’s or listener's desire to be accepted or valued

o|o|wl|s

. [Begging the question | IV. JArguer tries to distract the attention of the audience by raising irrelevant 1ssud]

| S

- A-IV. B-I1. C-II1L.

o

Choose the correct answer from the options given below:

. A-IL B-IV. C-1. D-III

D-I

AL B-I. C-IV. D-IT
A-L B-III. C-IIL. D-IV

et 1% 1Y Gl 11 &1 fored= pifeie

&t 11 (R

_T%Imﬁm
A e gidd | L

[afad o arr el @t sfafufd o1 Ted TRgd &xdl &
B. [ diad | I [3fdd & el g [0 SIH arell ard &l 5 $% 90l &
c. ket gaa | 1L [ofea &7 aren ue® @1 o1 ©1 %90 & Hoda ol 31 ISR A aiH S A1 B ATH0d DIl o
D. [3r@meg &N | IV, [fad & arer Sidna &1 & g & (ol s, U=l Bl 3o1dl &

. A-IV. B-I1. C-II1.

Al
A2
A3

Aty

4

Objective Question

horns: it is called

. Segavat Anumana
. Samanyatodrsta
. Paksadharmata

B

1. gdad 3EH
2. XYad HTHH
3. AHERIAIERT
4. Gerear

1
2
3. AL B-1. C-IV. D-IT
4. A-I. B-III. C-II. D-IV

i feu U fadedi T 9§ 9l 3R &1 98 B ;

A-IL B-IV. C-L, D-III

D-I

. Purvavat Anumnana
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9 47029 When inference is based not on Causation but on Uniformity of co-existence as in the case of inferring cloven hoofs of an animal by it's
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Objective Question

30 47030 hgound is eternal because it is produced’ refers to which of the following Hetvabhasa?

1. Badhita

2. Virruddha

3. Asiddha

4. Savyabhicara

43 TMead & TP T8 IO I ol o - T8 duA = T T {59 Sy &1 Jod axdl 87

1. FTied
2. fa%g
3. 3%
4. JATER

Al

A2
A3

Ay

4

Objective Question

3147031 A smart home application that automates the controlling of lighting. temperature, entertainment system and appliances is an example of

. Evolutionary computing

. Nature- inspired computing
. Bio- inspired computing

. Ubiquitous computing

% H1E 811 Ui e ol YT, dTdsd, R Hunal 3R SUERul &f Wa: (Hafd a=dr 8, Fefafad s13eu e

b =

o

1. SARFR] BIgfeT
2.7 RS
3.&1@@%@
4. glafagey wrgféT

Al
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Objective Question

32 47032 Identify the correct order of the term A-E given below that completes the paragraph decribing a method of operation for a keyboard.
A computer keyboard has a key matrix underneath the keys when a key is pressed. it presses a switch that completes a

This allows to flow. The location of the key pressed is . The location of the key pressed is compared to a
map to find the value for the key that has been pressed

A. Binary

B. Calculated
C. Character
D. Circuit

E. Current

Choose the correct answer from the options given below:

ko =
0o
Mo mo
W W
nEHAN
i

o

4 AU A-E 0% & Ual (e) & Tel 31 B! [f5d B3 ol $I-81S & HaTe 1 HOlTel! &1 qUiH SR-aTd URIUTS i G- Rl
TP B & Bl-a1s § ol (@) & -1d PIL-ATCHT Sl 8| 96 DI D! a1 911 & dl 599 Ud fad gadi g off kel

GG Yalfed g1 Ol § | GETs Ts ‘@1 &I Safeufd Il 81 GET% 75 ‘@1 Bl Sfafeyfd i qa1 U
IHRE S ot o1t § aife <618 7S ‘@ @l O U e o1 9 |

A SR (fgamymh)

B. TIUFT

C. PER

D. IR9Y (@fde)
E. faggd uRrT

i feu U fadedi I § HEl IR &1 98- difeig:

Mo m Y
W W W W
OO0
[ R = S

B
=g

Al

A2

A3

A4
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Objective Question

3347033 Given below are two statements:
Statement I: Internet is commonly used service on the World Wide Web.
Statement IT: HT TP is the protocol that web browsers and web servers use to communicate with each other over the Internet.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false

4, Statement I 1s false but Statement II 1s true

TR eyiRume:

PYT1 : SeXIc, A¥aP 39 (Aeoaigs 48) R IHM U T S&Hd eHard! 9ar g |

@A 11 : HTTP T8 UICIHTd ¢ ford 36 sT3ur 3R 49 9aR, $e3-ic W TP ORI YUY H=- o fod Uai &ed 3
SWRIGd FUH & 3P 1, A1d 14U 77U f[ddhed H T I8! 3R &1 999 DITog:

HUAI AR IS TT§

DY RIS AT

YT I B, AP PYT I 3T ©
DY HIA B, AP PYT I gI ®

b =

W

Al
:AZ
A3
A4

4

4

Objective Question

34 47034 Which of the following statements A-C are correct about a Hard-Disk Drive (HDD) used as a storage device in computer?
A Tt has no moving parts

B. It is non-volatile
C. It uses magnetic properties to store data

Choose the correct answer from the options given below:

. A &B only
A& Conly
3.B & C only
4AB&C

[ SR
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PRI Y A-c § 9 B 3 Srge] 1 TRol {$d159 & T § UG 1S (5% gI3d (TIsie) & aR § 98l 82

A 590 Bls gaHH few (@fdn urd) el erar
B. U8 AM-aI0eIEd 8ial &
C. 08 TS & USRI & ol Fraatg il &1 waT axdl 51

Hi ST 7T fa el § 9 981 GTR &1 99 Bifelg:

1. %ad A IR B
2. Fad AR C
3. ®ada B IR C
4. A.B3RC

Al
A2
A3
A4

4

4
Objective Question

35 47035 Given below are two statements:
Statement I: (1011101); =(135)g

Statement II: (71)g = (111001),

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I 15 false but Statement II is true
9 @ o Ry g B
FYA: (1011101), = (135)g
DY : (T1)g =(111001),
SWRIdd B & 3HTale 1, i 13U T f[dPpeti ¥ 9 Tad Sugad SR &l T4 Pifig:

PYTI RIS T8 &
. PYA1 R 11 g1 Tad ©
YIS 8. AP pYT 1 TEd ©
Y 1719 ©, i1 YU 1T I8l &

b =

W

Al

A2
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Objective Question

36 147036 gecretariate of convention on Biodiversity (CBD) is situated in

1. Geneva. Switzerland

2. New York, United States
3. London. England

4, Montreal, Canada

o fafasar geet sty (e @1 e oef a2

1. ST, fgeoRavs

2. TS, SR

3.qe . TS

4. gifeTd, SAST
Al
1
A2 5
2
A3 3
3
Ay
4

Objective Question

37 147037 \Which one of the following is included while estimating Air Quality Index (AQI)?

1. N,O Nitrous oxide

2. NO, Nitrogen dioxide

3. N,O5 Dinitrogen trioxide
4. N,O;5 Dinitrogen pentoxide

IR UG YA (USSTS) 1 TUFT PR GHY H=fiad o 3 foae! i fear o 82

1.N,0 (TZcd 3HaH1gs)

.NO, (FTTESIoH SEHaEs)
N0, (STERGeH CReHIFgS)
\N,0s (STEECIoH JIagIgs)

[ 3=

o

1
A2
2

A3 3
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Objective Question

38 47038 wWhich among the following are Natural Green House Gases (GHGs)?

A. CO, (Carbon dioxide)

B. H,O (Water vapor)

C. CH, (Methane)

D. O3 (Ozone)

E. CEC (Chlorofluorocarbon)

Choose the correct answer from the options given below:

1.A.B. C.D only
2.A.C.D.Eonly
3.B.C.D.E only
4.A.B. C.E only

frefefEd & 9 SH-8 wiefae dHesy 19 Gieast) 82

A. CO, (T SEIHFES)
B. H,0 (Sid aIs)

C. CH, (H137)

D. O; (HIW)

E. CFC (SRIRIHRI B1a)

A feu 7T fomed § 9 981 SR &1 994 Sl

1.$ddA.B.C.D
2. $ATA.C.D.E
3.%dd B, C.D.E
4. $9T A, B, C.E

Al

1
A2 5
2
3
Ay

4
Objective Question

39 47039 Carbon monoxide (CO). an air pollutant when inhaled readily binds with the hemoglobin in the blood stream to form a life threatering
compound known as

. Hemoglobous

. Carbo hemoglobin

. Carbon mono hemoglobin
. Carboxy hemoglobin

R
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BTE THT SHFHES (CO) U a1 TSP &, Sl TN & 1Y 96 IRR & e A1 ¢ o X URT H JURYd granaiie & I q_a
B Siia & AT 919% TP AIie BT HH0 Sl 6. okl SeT Sl 6 -

1. feoaEg
2. FraEleqrala
3. Pra 1A fearaifan

4. HrEEdl ferraa

Al
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Objective Question

4047040 which of the following is a chemical treatment in water treatment process?

1. Filtration

2. Sedimentation
3. Coagulation
4. Screening

d YieE wfeean § FEfafad § € oF-91 e I = 82

1. e
2. 3G
3. ¥hoA

4. QYGBRUT (BB

Al
A2
A3

Aty
4

Objective Question
41 47041
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In the beginning of the 20t century in 1902, there were important engineering colleges at

A Roorkee

B. Madras

C. Kanpur

D. Sibpur (Bengal)
E. Poona

Choose the correct answer from the options given below:

1.A.B.D only
2.AB.D&E only
3A.B.C&Eonly
4. D only

2091 TS F IRY F 1002 § Ag@qul SR Sl oo 42
A TSI
B. HglH
C. PHER
D. faTR (&)
E.
i fau U fasedi T 9 T8l 3R &1 98 I

1.PIA A, B ARD
2. HdT A, B.D 3R E
3. HATA. B, C IR E
4.9dd D

Al

A2
A3
Aty

4
Objective Question

42 47042 Given below are two statements:

Statement I: The NEP2020 recommends the establishment of an academic bank of credit to facilitate the transfer of credits between the
institutions.

Statement IT:One of the objectives of NEP2020 is to inerease the number of multidisciplinary institutions in the country.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ B

. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement II is false

4, Statement I is false but Statement II is true
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9 S pyA Ry #:

am:nﬂ%fi?%ﬁﬁf (@R 2020 B TRU137 & &9 Hioca & SR B Gl & [T sbsis 8P 3 Hhise &I R 31
fRymiesr |

B 11 : TN 2020 BT =0l H I Uh, 4% & agfavas Twusf o1 wen 1 ofE S gl

SWRIT BY & el 1, i 37U Y f[dPhedl ¥ 3 968 ST IR DI 99 Hiig:

HYT1 AR 1 ST 9T §
HYT 1R I SH TEd &
HYTI IS 8. AT pYT 1 TTEd ©
YA 17T B, Al U1 9E §

b =

= W

Al
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Objective Question

43 47043 e become builders by building and we become just by doing what is just” In the light of this statement what can not be asserted?

1. Man is a virtuous being

2. Virtues are like skill

3. Skills are acquired by performing relevant activity
4. Virtue is a mechanical and non- ethical skill.

<& fAf o ¥ el 590 € 3R ol TETd S € 98 B3 4 OIS §d 61 59 BU & Sdie § 91 d & 91y T
®B1 ol Hdl 82

1. 1 U Toft 7ot B

2. 0T DI & T g

3. B WA urea e ifold U ae g |

4. 701 U TifA® 3R Afas PR |
Al
1
A2
2

A3 3
3
Ay

4

Objective Question
44 47044
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In the light of Buddhist system of education student was expected to follow 'Das Sikha Padani' Which of the following dose not represent
the code of conduct:-

A. To avoid food at odd times
B. To avoid untrue speech

C. To relish music and dance
D. To avoid stealing

E. To accept gifts in charity

Choose the correct answer from the options given below:

1.A&B
2.B&C
N &ED
.C&E
@&'fﬁr%&nwﬁ&? it foemedf § <o Ryar veit &1 U o537 o e o1 7S off | FefiRed 8 3 o 3R SRar ot =6l

A, 3THY HISH el ST

B. 39 gl giaH|

C. i SR &1 &1 g Tl
D. IR Tl BT

E. &M H 3YeR WIHR B3|

i ST T fa el § 9 9El GTR BT 99 Bifelg:

o

LA3RB
B3RC
.C3RD
.C3RE

|

= W

Al

A2

A3

Aty

4
Objective Question

45 47045 Given below are two statements:
Statement I: University of Punjab at Lahore and University of Allahabad were established during colonial rule in India.

Statement II: The main reason of their establishment was the inereasing demand in these places for higher education including 'Oriental' ¢
well as modern European education.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4, Statement I is false but Statement II is true
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9 S py Ry #:

P 1 : TTeR FUd IS faxafaeierd qul SaeTEls faxafaeed &1 Y-l YRd B Sii-afie - & GRH g5 |
FYA 11 : 3P| RITTHT 1 T SRO 59 R TR <fiRTea 3R 31yfe g0 Rier wfed 3=3 Rian @1 agdt T o
SWRIT BY & e H, i U Y f[ddhedl § 3 968 UG IR DI 99 Biig:

YT AR 1 S T §
HYT1 AR A AT &
YT IR B, AP HU I TEd ©
YA 17T B, Al U1 9El §

b =

W

Al
A2
A3

Ay

4

Objective Question

Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum. India
talls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

India will become water-scarce country if the availability of water per person per annum falls below

14

1 million litre
1.5 million litre
1.2 million litre
100000 litre

B e
2 2

=
2
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TR B ey SR P U $ SR i

YRA 0 Y90 SR Hag! od (et Saurisi, sidl, sreyfaat ok s o Arqe fufd & d@d gu. T 40 a9 4 UH
IT-STHTG ATl 1 & ST g |

Ui oafa uia 9y 1486 TFHIER (~ 1.5 AT diex) B o/ S ST F WY, YR Sfd-ait (3fedan) ot 4oft & smar g1 1000 99
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Objective Question

47 47047 Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum. India
talls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

In the year 2022 how many units of water assessed by CGWB were found to be over-exploited?

~ 283

~ 992

.~ 1276

4. ~ 1006
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RToredTE, givaron, faee, afiemrg ok Slce o el § Ui gaTgdl @ ¥e Siftd &+ g5 o

YR T, 87% Y-S RidTg & o1y HebTal ST § iR (9297 $gd g [ I a8 1R SIS Yo (ShYU], Y.5d BT &R °Ue- $l
Y 951 HRUI § i IR0 uflie EU 3 YA 8 81 gidl o | SR SR, Tam=rl & stfampaun SR Afeal ik Saurish &
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1.~283
2.~992
3.~ 1276
4.~ 1006
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Objective Question
48 147048
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Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum, India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiscriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Assuming that the total number of ground water units assessed by CWGB in the years 2017 and 2022 were same (1., 7089). What is the
difference between the number of over-exploited units in 2017 and 20227

~213
~:216
.~ 260
~ 354

TRl T o R P Al 3 IR ST

YR AU 1570 SR Gag! o (et sreiyrist, i, srey{fral iR s o e (fd o d@d §U, T 40 a1 O U@
ST- 37T ATl &% & Wbl o

Uiq eafa ufa oy 1486 TFHIER (~ 1.5 i oiex) & o/a & STl 1Y, YR oid-ait (3fedqan &t 4uft F smar g1 1000 897
e vfa oafdd ufa o 9 &8 TR RO R I8 9d DI SA1ys Hat ot 9ot F 1 5mem)

e 1 @Ud BT k] U GO 1 e §g1 4dl 61 B30 U-0d 8IS (HiuiSecgal) & 3PS §dld § [d Y-57e & Tge Tgi g
2022 H 3R H e ATBIAT 7080 SHIEUT T 4% AHCU §1 715 § oIaich 14%@3{%&%3%@1?3{@%3%7@%

7e [T 2017 7 oifie gadR A 919 17% SH1sdl o1 Sifd-ale g3 U1l fafi= guRor SR SR yarel 9 @y g 8 g due.
RTeredTE, giearon, e, aftremrg ok Flce o <rodl § Ul gargal @ v oifte & g5 ol

YRd 1, 87% -5 RidTg & g HepTel oirdl & SR a9y ®ed ¢ fo 9 gy 1R 31i¥s 1-57e [Fpyul, 178 &1 &R 9 Bl
a9 §51 PRI & Hib IR0 MUl U J Ty J 81 8idl 6| g1 SR, STl & iiagpaul SR Afadl 3R aegris 8§
SUEIRT (S9TRIY) o & 9ol 3 Jae! od da1eE o Sl 38 g

R

T Eforg s awif 2017 SR 2022 T T Sewg o ot gRT S ferd Y- So1sal &t a S A (3yfd 70s9)2f, @ 2017 3R 2022
H afaifed ol o T & dig fed iR &2

1.~213
2.~216
3.~ 260
4.~354
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4
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Objective Question
49 147049 Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum, India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiscriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Which of the following states have been found to have high number of over exploited units of ground water?

A Rajasthan and Delhi

B. Punjab & Haryana

C. Uttar Pradesh

D. Tamil Nadu & Karnataka
E. Madhya Pradesh

Choose the correct answer from the options given below:

1.A.B.C & D only
2.A.B. &D only
3.B.C.D & E only
4 AB.C,DE

TRy 1 o IR B A 3 IR T

YR AU H-57d SR Yag! o (Al STayRrisi, sidl, srsyfal 3R S o Ao ffd B d@d gu, T 40 a9 0 U
Sd-3{HTd aTell &% & Yehal 5 |

g eafa wfa o 1486 TR (~ 1.5 Tofemm diex) @ o/a @ ST & 1y, YR oid-ait (3feqan &t 9oft & smars |1 1000 89
e wft cafad wfa v 9 &8 TR R OF W T8 9d DI S/Aids ool o gt F 1 S

S 1 @Ud D1 aRie] Ul TR B e 9¢1 4dl 6| B4 UY-oid 9IS (HiuilSsegal) & Hibs §dld ¢ [ Y-57d & feTge Tgi ¥
2022 T 3R H P MBI 7080 SHIRUT T U 4% HHeUd gl 715 § oidic 14%15@&%-&%?%@1?34@1%‘1‘:[%@%!

75 [T 2017 7 oifie SR A 919 17% SH1sal &1 Sifd-ale g3 U1l fafim guRor SR HRemn yarsl O @ g g wReg doe.
RToredT, givaTon, e, afiemrg ok Slce o Xedl § Ui gaTgdl @ v Sifta &1 g5 o

YRd 1, 87% -5 RidTg & fag FepTel ol & 3R f[aUsy $gd ¢ i R 9y 1R SATiNe -o7d [eehyul, 4-5el &1 &R ge- &l
T 981 HRUI § Fi1eb IR0 UIuiles U I 9gH 5 81 8ldl o | G¥R1 SR, Ta=il & MashHul SR el 3R Faerms] &
SIUETRT (S92 O & [a9ai 4 Fagl ofd dareH o ST 378 g

ARG & ¥ BH-5H U Il § yol-oid 31 3ifd-ale B 715 gdiedl it I@a I ulg 115 82

A, SR AR et
B. TSI 3R ghmor
C. TR WS

D. THETg 3R FHfe®

E. GAYX
i feu U fasedi I § GEl 3R &1 984 DI

.HTA A, B, C IR D
.FTUA, BIRD
.¥auB,C, DR E
A B G DB

b =

i
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Objective Question

30 47050 pead the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum, India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiscriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India,87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Identify the factors responsible for depletion of water resources.

A High consumption of water in agricultural sector

B. High consumption of water in Commercial sector

C. Encroachment of water bodies

D. Excessive water use in domestic sector

E. Discharge of untreated waste water in rivers and streams.

Choose the correct answer from the options given below:

1LA.C.D & E only
2.A.B.C&E ouly
JJA.B.C.D.E
4. A, C &E only
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Objective Question

147051 papieration game is combination of :

1. Bagketball and Handball

2. Boxing. Judo and Wrestling
3. Wrestling and Boxing

4. Boxing and Judo

Upe W A FrRaferiad # 9 & 9 9e 2fier 81d 82

1. RPead 3R esard

2. FHaTel, SS 3R P
3. P SR
4. g aTSl 3R TS
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Objective Question

147051 papieration game is combination of :

1. Bagketball and Handball

2. Boxing. Judo and Wrestling
3. Wrestling and Boxing

4. Boxing and Judo

Upe W A FrRaferiad # 9 & 9 9e 2fier 81d 82

1. RPead 3R esard

2. FHaTel, SS 3R P
3. P SR
4. g aTSl 3R TS
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Objective Question

52 47052 1 which year was Badminton officially introduced in Olympies ?

1. 1980
2.1984
3. 1996
4.1992

Ssfiie W of gl aR iafie ¥ foow o & <meite fasar o

. 1980
. 1984
. 1996
. 1002

S

Al

A2

A3

Aty
4

Objective Question

33 |47053 Neeraj Chopra clinched the Olympic gold with a throw of at the Tokyo
Olympics.

.86.58 m
.87.28m
.87.58m
.88.88m

cifeal fafis & R 9usT = Hidl e &R Wl Ued i o »

)J—\Lulql—‘

.86.58 HI.
.87.28 1.
.87.58 HI.
.88.88 1.

b2 =

= W

Al
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Objective Question

34 47054 The Stade Race distance was :

.42.195 k.
200 m.
3. 110 m.
4,21 km.

esds TG

[ SR

.42.195 foodt,
. 200 HI.

110 |

21 foeet.

b =

= W

Al

A2

A3

Aoy

4

Objective Question

33 47055 What are the components of female athelete triad?

. Bulumia. Menses and Stress fractures

. Anorexia. Heavy menstrual periods and Bone density loss
. Disordered eating, Amenorrhea and Osteoporosis

. Nutrient Deficiency, Menstrual and Hormonal Imbalance

ofed wueic 70 & S 9ed 82

B

1. gEftr, mie o SR oG 4

2. AT, s T o R of g9@ gl

3. SOTaRRYd WHUH. THART T SR Sfifde U

4. TN dl &1 ST, A1® o 3R gEH Jae srigan

Al
1

A2,
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Objective Question

36 47056 ywhich among the following do fast - twitch fibres contain?

1. A relatively small number of mitochondria and high ATPase activity
2. A relatively small number of mirochondria and low ATPase activity
3. High myosin ATPase activity

4. Low rate of cross bridge turnover

FafafEd o 9 $1HY BRe fgd drger giifid 52

. AU&THd &Y I HISel-HISaT &1 oY I 3R 3= Ul U fobar
U ¥ I Hgel-Disal oI oy I iR 7 1.8 9 fea
3= AR T us b

P fgo e SR ot g &)

b =

= W

Al

A2

A3

Aty

4
Objective Question

37 47057 \What is the reason of difference in maximal cardiac output between trained and
untrained athelete?

1. Untrained athelete has a lower cardiac output because of low resting heart
rate.

2. Untrained athelete has a higher cardiac output because of low resting heart
rate.

3. Trained athelete has a lower cardiac output because of lower stroke volume.

4. Trained athelete has a higher cardiac output because of large stroke volume.

ufarfard 3R wifad vuclic & S=add gadt fFfd ¥ 3k &1 71 PRU g2

-

1.§uﬁfaﬂquﬁtwmﬁaﬁﬁaﬂﬁ$m|wl FooR gt Frfa g

|
2. JTRIfEr Ty @1 i fayifa gea R & oRU S« gadl i giar g
3. wfiféra vuetie @1 FgaR anurd 9E & HR YR gadl Frid g gl
4. yieIferd ydie ST ES NeTd 9RAT & HRU Y0 gad! Fria g gl

Al

1
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Objective Question

58 147058 Among the following which one is not an amino acid?

. Glutamine acid
. Palmatic acid

Asparatate acid
. Glutamate acid

fFrafaRed o 3 Siar U o el 2

el S

1. TICHE 3
2. grelfed g

3. TWRde 3
4.7qcHe 3

Al
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A3
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4

Objective Question

39 47059 Which type of joint is also known as reciprocal reception?

1. Pivot joint

2. Saddle joint

3. Condyloid joint
4. Hinge joint

fFofafad ¥ Q9 ST o 91 IR 3 A8 & =9 § o[ oidl 82

b2 =

g i
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RS EIIE

=W
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1
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2
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Objective Question

60 147060 1£ a1 the forces have a common line of action it is called as

1. Tensile force

2. Parallel force

3. Collinear force
4, Concurrent force

gfe gl UHR & Ia I GHH A5 6 ThyH fAfed 81 O U8 deardl o7

IBGEEE|
2. JHAIR &9
3. A A

4. gHad §d
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Objective Question

61 47061 Who first described the concept of reciprocal innervation and inhibition?

1. I.V. Basmajian

2. M. Milner

3. Charles Sherrington
4. B.A. Gowitzke

RIS diEd o 3R SaR1U= 31 GURUT &7 gui- Jauyd fera= fam

1. o9t g9afom
2.7, fie R

3. 9T T
4, §tu Midees

Al
1
A2 5
2
A3 3
3
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Objective Question

62 147062 Which is not the posterior group of muscles of the shoulder Girdle?

1. Levator scapulae
2. Rhomboids

3. Trapezius

4. Infraspinatus

Wy TR &1 AU o 9y 9 Fefifaa § Yo arad

1. TdeR W e

2. SIS

3. cuformg

4. gIICY
Al
A2

A3

Aty

4

Objective Question

63 147063 Which of the following practice allows you to focus on one skill at a time and

involves completing all trials of an individual skill before moving to the next one?

. Random practice
. Blocked practice
3. Continuous practice
4. Individual practice

fofafad & T a1 g IS U6 900 § U6 HI9d IR I SHfad d
1 A 1§ SR ST 3T DI B AR T¢ U Ud TP dafaadd HI-A
& Ft Il &1 1 A1 e 89
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Objective Question

64 147064 Which one of the following is termed as the executive psychological skill?

1. Concentration
2. Goal setting

3. Self confidence
4. Aggression

fgfataa § S 53 oufdas s $Nd & 9 § WF1 o 82

1. UDTd
2. &g fyRoT
3. T oy
4. STEPTHEAl
Al
1
A2,
2
A3 3
3
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4

Objective Question

65 47065 o disposition to exhibit certain personality characteristics is termed as

. Personality trait
. Pergonality profile

b =

3. Resilience

4. Personality paradox
ofeTed & faeg! 0N DI WaliRid B & o0 Ue 3y &1 g U 1 §A1
ST 82

1. e & [0

2. Al BT UBEd
3. faufa =moq (Rfsiferds)
4. Tfd gt siafdviy
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Objective Question

66 147066 A coach who allows athletes to participate in decisions about the group’s goals,

practice methods and game tactics and strategies 1s belongs to

. Instructional behaviour
. Democratic behaviour
. Autocratic behaviour

. Positive feedback

a8 oI Fafafad & 3 foud Jefia 3. 5t gudiie! o uag & &), snag &t
U@%ﬁfuﬂﬁﬁaﬁmaﬁ?wﬁﬁ%aﬁﬁﬁﬂhﬁ AT A BT 3Afd
ddareg?
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Objective Question

67 47067 Which one of the following is not an example of the openskills?

1. Soccer dribble

2. Tennis forehand
3. Basketball layup
4. Volleyball serve

faffEd ¥ @ B9 Gar HINd &1 Th SaRR0 82

1. iR fgaa
2. P BRes
3. SRGcald 93T
4. grdiEfa ad
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Objective Question

68 47068 \When was first Khelo-India programme launched?

L2014
.2016

3.2018

4.2019
wal-fsar HrieH gduus e uR fear mar un

o =

2014
2016
.2018
. 2019

O

A3

Aty

4
Objective Question

6947069 \Which of the following measures the degree to which objectives have been
achieved and is conducted at the conclusion of a lesson?

1. Formative assessment
2. Summative assessment
3. Written assessment

4. Oral assessment

fAofafad o 9 & und fu U ISRl &1 5131 &1 H1Y9 $d1 § SR U6 U6
P FHI R mEford fasar o 82

1. FrafneEs gegied (wifed sRiwHe)
2. YHeHIED Hedid (FHifcd SgHc)

3. fofea geaie
4. RGP i
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Objective Question

7047070 Which method has been considered a gold standard for body fat percentage

assessment?

1. Anthropometry

2. Bioelectrical Impedance Analysis
3. Plethysmography

4. Hydrostatic Weighing

Frafataa o 9 {5 9l o1 o aw wfowd srea & fou @t a9 & =9
H {1 82

1. AFaET @hEe
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Objective Question

47071 Which among the following is not the outcome of snake bite?

1. species of snake

2. size of the snake

3. the area of the body bitten

4. the amount of venom injected

e § 9 SH-99-39 1 IR el 82

1. 4 &} gyoifd

2. 94 F1 PR
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Objective Question

72 47072 The rate of energy supply of Dietary fibre is

1. 4KCallg
2. 9KCallg
3.2 KCallg
4.3 KCal/g

3MER Taish =71 & 81 areht Ioit amgfd R et & -

4 fra patam
.o foral partas
3. 2 fooet pad ™
4. 3 oot o™

[ S

Al
A2
A3
A4

4

4

Objective Question

4 : s infecti
73 47073 Nrehicle-borne transmission of infectious agent means

—

. Transmission of the infectious agent through an arthropod or any living
carrier to a susceptible individual

. Transmission of infectious agent through the agency of water, food, raw
vegetables ete.

. Transmission of the infectious agent through “Droplet nuclei”

4. Transmission of infectious agent other than water or food by the infectious

discharges from a patient

TS HHD & Ie--ol-d o0 9 A & -

[B%]

V)

1. fordlt guTey afea & foTu SUTgTs sryarl [ Siifdd dies & T 4
GBS FHD DI GRT|

2. oI, ATe], S| Hifeordl sdlie & A10H I ThHS Tole (GHD) B
A1

3. “gIYele el & Iy ¥ YHTHEH B Bl TR |

4. 97 31a1 @1 & SifaRkad fadl a8 & Imd fageiq (lSwam) gRT
GBS FHD BT T |
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Objective Question

74 47074 1£ Rank order correlation (P) = 0.80 and Number of subjects (N) = 10, then what

will be the value of Yd? ?

33
.36.5
23
32

i 9ufl v TgHaY (P) = 0.80 3R ATGAdl BT =T (N) = 10, Tl Td2 HTHH
HI1 81 2

[ S

o

33

36.5
23

32

R
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A2

A3
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Objective Question

75 47075 The formula for training power endurance is

Al

A2

A3

A4
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Objective Question

7647076 1f the young athletes trains exclusively on sprint exercise it leads to

. Super compensation
. Reversibility
3. Speed Barrier
4. Greater Speed

%ﬁ%w@aﬁmﬁa%&mﬁﬁaﬁﬁﬂ% o e fre aik Afka
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 SfdefaRuU T 3R
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Objective Question

77 47077 A reduction in training work load prior to a competition is known as

. Reversibility
. Taper

3. Detraining
4. Transition

et wicrenel O gd giiemn erf R o S o8 w9 1 S ol 62

b =

1. IP AT
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Objective Question

78 47078 which load allows the athlete to maintain preparedness while under going
recovery?

. Stimulating load
. Detraining load
3. Retaining load
4. Overload

Tt faaSt &1 wiafeh I8 T @y WK F3 38T L a1 HH-91 YR 38 Jurdt
I X6 B SFAEfA AR

o =

1. BEIUH UR
2. HUIRI& YR
3. UfJYRU 4R
4. YR

Al

1

2
2
s
3
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4

Objective Question

7947079 Tpe following observations have been arranged in ascending order. If the Q3 of the

data 1s 17.5, then what is the value of x ?

1,3.6.9, 12, x, 18, 95

1.14
2. 16
3.13
4.15

frafifad Yeml & oRig o8 & orafed fear g1 afg sreTar Q, 17.5 .
dl x 1 O R ERT?

1,3.6,9,12,x, 18,95

14
16
13
15

[ SR

=
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Objective Question

80 147080 Which is not an example of field research method?

. Personal interview

. Telephone survey

3. Analysis of documents
4. Mass observation

Ry & 3 Pie-a & o R T8 82

o =

1. TR & TP R

2. TSI F o T Tdem
3. GXIaSl BT faResoy
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Objective Question

81 47081 Which one of the following is not an important measures of dispersion?

1. Range

2. Mean deviation

3. Standard deviation
4, Correlation

AT o ¥ SIH-91 U Ueh U 1 He@qul 419 =8 &2

IR (31
. Hed faga
 HH® fagad

. Heddy
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83 47083
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4

Objective Question

Which technique uses a series of questionnaires in such a way that the respondents
finally reach a consensus about the topic and basically it uses expert opinion to
help make decisions about practices. needs and goals?

Delphy technique

. Interview technique

3. Case study technique

4. Normative survey technique

fFrafefed 5 9 @ 4 ufafy gsrafed @1 £@e o1 59 0 wan Sl ¢
SORerdl fawa & e F 3fcd: YrHsRy WG B ddl § 3R Hoid: oIagR.
a{rq'mqéwaﬁ SR wel & de o Fuig o o gergar 8 RIS 0 &1 W
R 82
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Objective Question

Which of the following test is not related to measuring static balance of the body?

1. The Nelson Balance Beam test
2. Flamingo Balance test

3. Bass Stick test

4. Progressive inverted balance test

A & 9 FH-a1 aieon, TRR & Rl Sqae & A19E 9 Safd T8 82

I Soy &1 Tl
AT ST Tdiem

3. 919 ew glieur

4. UTYd 39ads a9 diem

b2 =

Al

A2

A3 5

3

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_1-100.html

53/65



6/13/23, 6:46 PM 58_Live_PhyEdu_B1_E_1-100.html

Aty

4

Objective Question

84 147084 Which human physique is characterized by a long, thin body with emphasis placed
on the vertical dimension?

1. Pyknic

2. Endomorphic

3. Apoplectic habitus
4. Phthisic habitus

Fafafad o 8 S 91 41d IRIRS 767 S@ieR S IR §¢ YGH $d g4
el SR gae S & & H 9 oI 82

IREEARET

2. SIS

3. TUf@ifdes gfgeg
4. yTsfi® efde

Al
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Objective Question

85 47085 Which is also called Body Mass Index?

1. Heath Carter Index
2. Shelton Index

3. Pondiral Index

4, Quetelet’s Index

FafalEd o 9 $H 9 1 o0 Yaoie (dis! 0¥ $sa) 1l sl o2

1. ey D1 gasisd

2. Yee YIbid

3. ISR YIS TP

4. FgCAC gIDIP
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Objective Question

86 47086 yrhyich skinfold site is not included in Jackson-Pollock 3-site Skinfold Formula
(1985) for body density of women?

1. Triceps

2. Abdominal
3. Suprailiac
4. Subscapular

fafaiad 0 9 &4 9l pwics dige Higdl & SRI-a9d & J1949 8q
SIFH-UIc® 3-HIge pbIes g2 (1085) & =0 751 82

1. 258w (BRR®)

2. UssIiAd (36409)

3. guTS (IS (UgaT)
4. JEDHYCR (STDHH)

Al

1

A2,

2

A3 5

3

Ay

4

Objective Question

87 47087 A tournament of 87 teams is played on qualification cum knockout basis with

special seeding of 4 teams direct into the quarter finals, after knockout matches 4
teams qualify to play a round robin tournament. What will be the total number of
matches in the tournament?

91
. 86
.90
. 89

3Bl SR T (FIS13T) T SR TR 87 | & TP AT § HIeXmzad 4 4
a1 fomry St 1 et €, A 3m3e Jf & ud 4 A4 Ags e
gﬂfﬂ%ﬁ@ﬁﬁ%ﬁu 3Rl T =il 31 gAth & g Al & e favat
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Objective Question

What is the stagger for fifth lane of 1.22 m width in 400 m track?

.30.50
.30.03
3.30.05
4.30.04

400 7. T H 1.22 W, Pt ufedt 99 & g siqdiewu fEaTelarg 2

o -

.30.50
.30.03
3.30.05
4.30.04

[
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Objective Question

Which one of the following provides a plaintiff with a cause of action to sue a
superior for the negligent acts of a subordinate :

1. Vicarious liability
2. Mortgage liability
3. Capital liability

4. Contingent liability

frafifad & 9 o fodht sl @t sramaeri & o foosht oy W gavem
-1 & (O A1GRq dTal WAl Bl o7
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Objective Question

90 /47090 The action part of the management process is known as :

1. Organizing
2. Leading
3. Planning
4. Evaluating

TaY= Ufsh a1 &1 Srare! (Uag) YT Fefad 9 @R ang?

. TISH ST

g BT
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Objective Question

o1 47091 Which of the following members represented the Indian Women Lawn bowls team

in Commonwealth Games 20227

A. Rupa Rani Tirkey
B. Ammu Rani

C. Pinki

D. Nayannoni Saikia
E. Lovely Choubey

Choose the correct answer from the options given below :

1. A.B. C and D only
2.A C.Dand E only
3.B.C.Dand E only
4.A.B.D and E only
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Objective Question

92 47092 Which of the following answers are correct explanation based on Elliot M. Avedon
classification of social interaction pattern within the affective domain.

A Extraindividual — Working with clay
B. Unilateral — Football team
C.Intergroup — Basketball team

D. Intraindividual — Meditation

E. Intragroup — Dodgeball

Choose the correct answer from the options given below :

1.B.D and E only
2. A. Cand D only
3. A.Band C only
4. A.D and E only

YIGTS & Siee UH. UGS & IIiois Sl Hio=y e 1R
3enfyd el ooren HafafEa 5 9 fead &

A. USRS Sotfauerd - GRiST & WY S ST
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Objective Question

93 47093 Wwhich of the following significantly affect protein filament interaction during
muscle action?

A. Troponin
B. g-actinin
C. g-lactalbumin
D. p-actinin

Choose the most appropriate answer from the options given below :

.B.C.D only
. C.D only
.A.B.D only
.A.D only

i fopa & SR e ¥ 9 o1 Q WidH fham sidfear o1 ades n
A yyad PRA & 2

A 2T

B. 3] (o) Ulae

C. 3P (o) A
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Objective Question
94 47094
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Which of the following physiological factors that can limit Vo, max.

A, Active muscle metabolism
B. Central blood flow

C. Peripheral blood flow

D. Tidal Volume

Choose the most appropriate answer from the options given below :

1.B.C.D only
2. A B. Conly
.A. C.Donly
.A.B. D only

Fafafad @ 9 o ¥ IRIRS SRS €. 5 Vo, Tad &I HHd R IPd 6 2
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B. 514 ¥ad U8
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Objective Question

95 |47095) £ top spin is imported to the ball there after the impact which is correct about the
movement of the ball?

A. Ball will travel with more height
B. Ball will travel with more speed
C. Ball will travel with less height
D. Ball will travel with less speed

Choose the correct answer from the options given below :

A. B only
.B. C only
.B.D only
A, C only

P S
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Objective Question

96 4709 wWhich is anterior group of muscles of the hip joint?

A. Tensor fasciac latae
B. Gracilis

C. Sartorius

D. Pectineus

Choose the correct answer from the options given below :

.B. C.D only
.A.B. Counly
3.A.B.Donly
4. A.C.Donly

T ot ArOfEl &1 s T FH WS 2

A, TR Biyus ae
B. dffeg

C. greiay

D. fgefag

A feu T famed § 9 98l SR &1 99 Sifory |

o =

1.$4ddB.C.D
2. $AAA. B, C
3, $adA.B.D
4. $IAA.C.D

Al

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_1-100.html 61/65



6/13/23, 6:46 PM 58_Live_PhyEdu_B1_E_1-100.html
A2
A3

Ay

4
Objective Question

97 47997 \Which of the following tools used for measuring cohesion?

A. Bod pod

B. Questionnaires

C. Sociograms

D. Monogram

E. Electro Cardio gram

Choose the correct answer from the options given below :

.B. D only
.D. E only
.B. C only
.A.B. Conly

i Ao & R FHafafaa o 9 e sl @) 1 99ar fear s g 2

o =
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Objective Question
98 47098

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_1-100.html 62/65



6/13/23, 6:46 PM 58_Live_PhyEdu_B1_E_1-100.html

The Somatic responses of anxiety includes

A. Sweating

B. Muscular tension

C. Avoidance of eye contact
D. Poor concentration

E. Sleeplessness

Choose the correct answer from the options given below :

1.A.C.E only
2.B.C.D only
3.A.B.E only
4. A E only

ST 1 2w s & GG &
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Objective Question

99 4709 Which of the following are examples of assessment techniques used most often in
formal evaluation?

A, Skill tests

B. Written tests

C. Rating scales

D. Student interviews
E. Fitness gram

Choose the most appropriate answer from the options given below :

.B. C.D only
.A.B.E only
3.D. E only

4. C. D only

bJ =
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Objective Question

100 47100 ywhich of the following organizations/institutions have been awarded Rashtriya
Khel Protsahan Puraskar award for the year 20217

A, Manav Rachna Educational Institutions
B. Oil and Natural Gas Corporation

C. Army Sports Institute

D. Tata Steel

Choose the most appropriate answer from the options given below :

A.B.D only
.A.Bonly
.C.D only
.B. C only

fFrafifad & 3 fr Sre-l AT @1 v 2021 & g she @a WA
REPR I JAI T man g 2

A, TT9a 91 e =
B. 40 U4 WIgpiad 14
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3.%4gd C, D
4. $ad B, C
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A2
A3

A4
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PREVIEW QUESTION BANK(Dual)

Module Name : Physical Education
Exam Date : 13-Jun-2023  Batch : 09:00-12:00

Sr. || Client Question . . Negativ
No. D Question Body and Alternatives Marks Marks

Objective Question

101 147101 The most widely used criteria to measure obesity are 20 0.00

A. Body weight

B. Skinfold thickness
C. Waist circumference
D. Bone density

E. Muscle biopsy

Choose the most appropriate answer from the options given below :

I
2

3
4,
RTAMHIIH &g a11U® A9 FU I WK 54 il JH&US © -

A. SRR D1 a9

B. @diaeH (p1Pies) Hicry
C. PR URIY

D. 3R T8 (47c)

E. Uit arareht

Hid feu U fadedi O U Tl 3R &1 98- DIy

1. $dd B.C.D
2. PAAA. B, C
3.%ad C.D.E
4. AT A.D,E

Al

A2

A3

A4

Objective Question
102 47102 2.0 0.00
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What are the causes of water pollution?

A. Physical Pollutants

B. Sewage

C. Industrial and Trade Wastage

D. Agricultural and Related Activities
E. Noise Pollution

Choose the correct answer from the options given below :

.A.B.D.E only
.A.B.C.E only
.B.C.D.E only
.A.B.C.D only

SE-UENU & HH-9 PRP © 2

1
2
3
4

A Yif® Tgus

B. TeTeTdl (FTeT )

C. e ud amie safky
D. PV T4 Jafdd fohan semg
E. @1 Tguu

A= QU T fas el O ¥ 969 9Ugdd GOk B 994 Bifol |

1. $ad A, B.D.E
2. $AdA.B.C.E
3.%adB,C.D.E
4. $GAA.B.C.D

:Al
52
63
{%4

Objective Question

103 47103 2.0 0.00

Which of the following factors that affect response speed?
A. Strength and Power
B. Visual acuity
C. Neural response
D. Food habits

Choose the correct answer from the options given below :

.B.C.D only
.D.A. Conly
. C.D only

.A.B.Conly

o =

o
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FRfIRId § 9 S -9 DRS¢ Ol 31 T 1 THIIAd $Rd § 2

A. Tolg! ud Qe
B. £ Ydl&ordl
C. TADIY 3ifehar
D. @ 3fiad

i 4T T fas eyl § 9 U8l 9Tk BT 99 Bifer |

1.%dd B, C.D
2. %G D, A, C
3.%4d C, D

4. Pdd A, B, C

:Al
A2
A3
A4

Objective Question

104 47104 2.0 0.00

Proponents of overloading suggest which of the following ways to increase
strength?

A. Maximum load to exhaustion, inducing strength gains
B. Submaximal loads to exhaustion. inducing hypertrophy
C. Moderate load to exhaustion, inducing power

D. Low loads to exhaustion, inducing endurance

Choose the correct answer from the options given below :

A, Conly
.B. Conly
.B.D only
.A. Bonly

HIRGT & ufaurgest = wigdl § gfe g1 Fafafad fb aldiel &1 g faar

W%
-3
Pl e

A. UR¥ifa 8 3ifUdad YR, Helgdicisdl ®f URd - arel|
B. UR¥ifd 8q 9U-3I8 4R, 3ifdgla & URd &= arl

C. gRHifd 8 GHAUR, Wi IRD

D. UR¥ifd §q ®H YR, RITMUd IR

13U T f[ad el § T Ul 3wk &1 94U Siforg|

1.Pad A, C
2. HAuB.C
3. A B.D
4. DAU A. B

Aty

1
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A2
A3
A4

Objective Question

105 147105 Which is the value of X in Binomial expansion? 20 0.00

(H+TP=H’+9H}+36 H T+ 84 HOT? + X H'T* + X H'T° + 84 H'T® + 36
HT? + 9HT® + T?

126
12
.108
.148
fame fAeR & X ST HH T g 2
H+TY =H’ + 9B + 36 H'T? + 84 HOT? + X H3T* + X HT> + 84 H3T% + 36
H2T' + oHT® + T®

b =

T

126
112
108
148

J -

oS Ve

Al

—_

A2

A3

A4

Objective Question

106 47106 Which is the area of scientific dishonesty? 2.0 0.00

A. Non publication of data

B. Description from different sources
C. Poor data storage and retention

D. Unaceptable publication practices

Choose the correct answer from the options given below :

1. A.B. D only
2.A.C.Donly
3.A.B. Conly
4.B. C.D only
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Objective Question

47107

58_Live_PhyEdu_B1_E_101-150.html

W $uc $ &7 T i AT

A. STCT T B

B. faftr Hidi § faaor

C. W14 SIET UG 3R 3aRIY
D. oM yHEH dR-ad

i ST U fap eyl § 9 gl SR &1 904 iy |

1.%dd A, B.D
2.%HGd A, C.D
3. AU A. B, C
4. %40 B,C,.D

Al
A2
A3

A4

Which is Rostan’s physique types?

A. Digestif
B. Apoplectic
C. Musculaire
D. Phthisic
E. Cerebral

Choose the correct answer from the options given below :

1
2
A
4

1= ST U fap eyl § 9 gl SR &1 90 iy |

1.%dd A, B.D
2.%dd A, C.D.E
3.HAAA.C.E
4.%ad B, C.E

Al

2.0

0.00
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A2
A3
Ad

Objective Question
108 147108 Which of the following tests are related to Agility assessment? 20 0.00
A Burpee test
B. Side step test
C. Right Boomerang Run test
D. Dodging Run test
E. Rogers test

Choose the correct answer from the options given below:

.B. C.D only
.A.B.C.D only
3. C and D only

4. A.B. and E only

FrfREd & | SH-51 601 <& FHuR (@egie) 3 g6 82

A, U Tj&

B. 3¢ WY GRI&0

C. 2T FERIT T U0l
D. SIToT 3 Tiem

E. oy gdtem

A fqu e fawed § ¥ 98l SR &1 99 Dol |

o =

1.$ddB.C.D
2.$ddA.B.C.D
3. %499 C IR D
4. %dT A, B, IRE

Al
A2
A3
A4

Objective Question
109 47109 2.0 0.00
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Which of the following are the decision making styles?

A. Reflexive decision style
B. Reflective decizion style
C. Consistant decision style
D. Submissive decision style
E. Democratic decision style

Choose the most appropriate answer from the options given below :

C.D only
B. D only
B.E only
B. C only

fFrafofaa o 9o H ifq Fofo i 8

A, TS Hofg oet
B. fa=iia fofa 2<ft
. T Fofa et
D. %&g o7 et
E. T dite o et

A= fqu T fas eyl ¥ ¥ Had IUgad SR &I 99 SIfeg|

LA
A
8
4. A,

1. $adA. C.D
2. $AAE. B.D
3.%0d C, B.E
4. PAAA. B, C

:Al
52
63
{%4

Objective Question

110 47110 2.0 0.00

What are the elements of sports management?
A. Organizing
B. Planning
C. Participating
D. Evaluating

Choose the most appropriate answer from the options given below :

. A.Band C only
A and B only

3. A. B and D only
4. B. C and D only

o =
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G e B BI-B1 F qd 82

A. IS ST
B. U1 &1
C. AT AT

D. JeiH Tl

1 fau Y fasedl ® ¥ 9ad 9uged SR BT 99 Bitelg|

1. FEAA. B3R C
2. P ARB

3. %dd A B3IRD
4.%aAB, C3RD

:Al
A2
A3
A4

Objective Question

1L 47l If in one way analysis of variance (ANOVA), Group A (N=10). Group B (N=8). 2.0 0.00

Group C (N=7), (MS)w =4.21 and tab F0.05 (2.22) = 3.44, Using Scheffe’s post
hoc test, what are the values of Critical Difference?

A.2.78
B.2.55
C.2.65
D.2.48
E.2.81

Choose the correct answer from the options given below :

.A.C.Eonly
.A.B.D only
A.B.E only
.A.B. Conly

A THART FER0T - fa=eNuT (UHidn) &, 958 A (N=10), 998 B (N=8). §g C
(N=7). (MS)w = 4.21 3R tab F0.05 (2,22) = 3.44 &1 &l Y &7 URCEIP T
DI YR Hd §U. ildd 3feR & O fbar g 2

W o =

[ B

-
!

MO oW
[ER N ]

[ R s

— o A Lh oo

[ 2]

A= feu e fasmed! ® ¥ 9l SR &1 997 B |

1.$dd A, C.E
2.$dTA.B.D
3. P00 A.B.E
4. %dT A, B.C
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:A1
A2
A3
A4

Objective Question
12 47112 Which are the test items of AAHPERD Basketball skills test? 2.0 0.00

A. Speed Spot Shooting

B. Passing

C. Tumping and turning in the air
D. Defensive movements

E. Control dribble

Choose the correct answer from the options given below :

LAC 5
2.A B.D.E only
3:A €

4. B

AAHPERD (3HgUS) SRSl HILel W&l 1 Wi 7d Fafaad 4 9
DAUWE 2

A. TS e g

B. O

C. P SR gaT H gHAT
D. HfaReft i

E. e fgaa

i f3U T f[ddedl O T Ul 3R &1 94U SIfort |

1.$Pdd A. C.D.E
2. %40 A.B.D.E
3.P4AA.C.E

4. %ddB,C.D.E

Al
A2
A3
:A4

Objective Question
113 47113 2.0 0.00
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Which of the following principles are used by athletes in the goal setting process?

A. Specific

B. Challenging and Controllable
C. Impossible

D. Measurable and multiple

E. Personal

Choose the correct answer from the options given below :

.A.B.D.E only
.A. C.E only

3.A.B.C.D ounly
4. A, E only

Quﬁgmﬂmﬁmmﬁmﬁﬁﬁﬁﬁﬁﬁmwwm
AT 82

o =

A, fafem
B. FAKITguf 3R fgavfg
C. 3TRa
D. A9 3R 9g-fay
E. SfadiTd
i fau U fadedi O U TEl 3Tk &1 904 Difeiy|

1. 940 A, B.D.E
2. PAAA.C.E
3. PAdA.B.C.D
4. PATAE

'Al
'AZ
63
{\4

Objective Question

114 47114 2.0 0.00

Which of the followings are the fundamental principles of pragmatism :

A. It uphold the power of man as supreme
B. Values are not pre-determined

C. It is monistic concept

D. It is pluralistic concept

E. It believes in matter

Choose the correct answer from the options given below :

1. A. D and E only
2.B. Cand E only
3. A.B and D only
4. B, C and D only
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srfferararg & 0@ 4o Rigia Fef@a i I s a &

A. U8 O™ &1 e 1 Hdied I-am g
B. e gd HufRa 98l 81d &1

(o B ¢ |

D. U8 Sgaaeid Yhedl ¢ |

E. Te ver A Ay axan g1

A fqu TTu fae el O ¥ 8l SR 1 994 pifo |

1. $adA. D 3IRE
2. %dd B, C AR E
3. %dd A, B3RD
4.%dd B, C3RD

Al
A2
A3
:A4

Objective Question

115 47115 5 2.0 0.00

Which are methods of identifying specific research problems?

A. Inductive reasoning
B. Deductive reasoning
C. Empirical studies

D. Observations

Choose the correct answer from the options given below :

.A. C.Douly
.A.B.D only
3. A Bonly

4. A. D only

FrofafEa d @ oty i gl o iR s ol i s dr e

A, TS T&
B. TS a%
C. 3Hfg e
D. U&u

e fau 7T faswedl ¥ 6! SR &1 994 i |

o =

1.$adA. C.D
2.$adA.B.D
3. PadA. B
4. $AAA.D

Aly

1
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Objective Question
116 47116

Objective Question
117 47117
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A2

A3

A4

Match List I with List IT

58_Live_PhyEdu_B1_E_101-150.html

LISTI LISTII
(Host cities of Commenwealth Youth Games), (Year)
A [Bahamas I 2008
B. |Samoa II. P004
C. |Pune II1. 2017
D. [Bendigo IV. 015

Choose the correct answer from the options given below:

ALV, B-I. CHIL
CA-IIL B-IV. C-L
CA-L B-IIL C-IL
4. A-II. B-I. C-IV.

bJ =

o

D-II
D-II

D-IV

D-III

et - 1 1Y Gl - 11 B FHd Bifoe:

LIST 1 LISTII
RTPHSE Ja1 Wl & A WET) Gl
A fegrEm™ L |2008
B. [gHtan 1. [2004
C fou 1 [2017
D. [@f& V. [2015
T feu e faw el O U Ul 3R &1 94 BIfor:
1.A-IV, B C-III, D-I
2.AIL B-IV, C-I. DAI
3.AJd, BJIL C-II. DIV
4.AJI, B-I C-IV. D-II
Al
1
A2y
2
A3 3
3
Aty
4

2.0

2.0

0.00

0.00
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Objective Question
118 47118

Match List I with List IT

58_Live_PhyEdu_B1_E_101-150.html

LISTI LISTII
A |[Water I |60% of muscle protein
B. |Protein I |5% of skeletal muscle mass
C. |Self and other substance| [II. |20% of skeletal muscle mass
D. Myosin IV |73% of skeletal muscle mass

Choose the correct answer from the options given below:

LA-IL B-I, C-IIL D-IV
CA-IIL B-IV, C-I. D-II
ALV, B-III G-I D-I
A-l. B-II. C-IV. D-III

et - 19 WY Gl - 11 D1 B DI

[ S

FENR R

LISTI LIST I
A [ d I. [U=g UdE @1 60 Uia=id
B. [gidH 1L [deeprcil U=l So0HM @1 5 Wiaeid
C. |74 ud = 111 [dreprell ORI SeqqH ol 20 W]
D. [FaiRA V. [deprell U=l geadH 75 Hided
e fu U [asedl § U Tl 3R &l 994 i
1.A-II, B, C-II, D-IV
- A= Vi, o o U 2
3.A-IV. B-III C-I. D-I
4.A-1, B-II, C-IV. D-III
Al
1
A2,
2
A3
3
Aty
4

Match List I with List IT

LISTI LISTII
A [Hollow Back I |Genu Varum
B. [Lateral curvature of the spingl II. |Genu Valgum
C. [Knock knees ITI. |Scoliosis
D. [Bow legs IV. [Lordosis

Choose the correct answer from the options given below:

1.A-II. B-III, C-IV. D-I
AV, B-IIL C-I. D-II
LAV, B-III. C-II. D-I
4. A-III. B-IV. C-II. D-I
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Gt - 1 1Y gl - 11 1 e Siferg:

Objective Question

119 147119 Match List I with List IT

58_Live_PhyEdu_B1_E_101-150.html

LISTI LIST IT
A g 99 @AgRd) | L fH&RE
B. [¥63 @I 14 geprg| I [ 9
¢ ffeamnEa ) [n eieerag
D. [g$ gu R ¥ SISIEE
A fau e fasedl | 8 981 SR 31 99 B
1.A-I, B-I, C-IV, DI
2.AIV. Bl CI. DI
3.AIV, B, C-I, D-I
4.AdI, BV, C-I. DI
ALy
1
A2,
2
Ay
3
Ay
4

LISTI

(Strategies for enhancing Group

LISTII

(Example of intervention strategies)

. [Individual sacrifices

IV.

Cohesiveness)
Tl e I D{n.de the sr‘lmmmg pool into areas
by fitness level
B. |Individual positions II. |[Establish a goal to lose weight together
C. |Group norms 111 |Make up posters and slogans for the class
D

Ask regulars to help new people

cA-L. B-II, C-IIL
A-III. B-I. C-L
ATV, B-IIL CAIL
CA-IIL B-IV,  CAIL

B

D-IV
D-IV
D-I
D-I

Choose the correct answer from the options given below:

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_101-150.html

2.0
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Objective Question
120 47120
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Gt - 16 1Y Gl - 11 T e Sifeig:

LRt LIST IT
(FE &1 SHidar & wade it R ¥ NG P Om——
I - . E@$wmﬁﬁﬂwﬁﬁﬂﬁa
b O T YR H D dH b 170 Teb aéd
B. |quidas i I Frffd @
C. [9¥8 & 151 111, [P @ (070 Uk SR AR (KrTE) ST
NE Soan . [T e G T Y e e
] |pE

i fau U fadedi § 9 HEl 3R &1 90 SDifeig:

1. A-I. B-II, C-II. D-IV
2 AN, B-I, C-II. DIV
3.AIV. B-III C-II. D-I
4. A-TII. B-IV., C-II. D-I
Al
1
A2,
2
A3
3
Ay
4

Match List I with List IT

LIST I LISTII
Y. M. C_A College of -
" |Physical Education L. [0
Central Advisory Board)]
B. |of Physical Education | II. |1993
and Recreation
All India Council of

C. g III. 1920
Sports

D Nattonal Council for v lhoss

Teacher Education

Choose the correct answer from the options given below:

AL B-IV. C-I. D-II
AL B-I. C-IILL D-IV
AL B-I. C-IV. D-II
CA-IIL B-IL C-IV. D-I

| S

a0

2.0

0.00
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Objective Question
121 47121
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Gt - 1 T1Y Gl - 11 BT e SifE:

LIST 1 LIST I
A [ars v 8T IRIRSG a1 geridae L 1950
B [o=id RIS 1R U8 TR qaednR aig| 11 (1995
C. |aT YR T uliug I 1920
D. RI¥TY f2rarh e givug Iv. 1954
3 fau U fo@menl & ¥ 9o SR @l 99 Bt

1. AL, B-IV, C-I. D-II

2.AJII, B-L CJI. D-IV

3.AII. B-IL C-IV. D-I

4. AL B-II, C-IV. D-I
Al

1
A2y

2
Ads

3
Aty

4

Match List I with List IT

LISTI

LIST II

. [Bones

I

[mportence

. [Reproduction

II.

[Psoriasis

Skin

1

[Peripheral vascular diseasd]

o|o|w|=

. [Blood Vessels

IV.

[Disc degeneration

Choose the correct answer from the options given below:

AL B-IL

b -

Lo

ATV, B-L
AL B-IVD
A-Il. B-IIL

C-III. D-IV
C-II. D-III
C-I. D-II
C-IV. D-I

et - 15 9Ty Gl - 11 DT T Biferg:

TISTI LISTII
A [gfgar L [Tdg@dr
B. [do 1L [Oasg
C ke 111, [qR3@1g Sag1a4 30
D iR afE® |1V [d9 (&%) 3med @ )
i QU T fad el O ¥ 9l 3R &1 994 Bifofd:
1A BT, GO DIV
2.AJIV. B, C-I, D-II
3.AN, B-IV, C-1, DI
4. A-I, B, C-IV, D-I

Al

—_

0.00
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Objective Question
122 47122

Objective Question
123 47123

A2

A3

A4

Match List T with List IT

58_Live_PhyEdu_B1_E_101-150.html

LIST I (Tvpe of strength LIST II (Meaning)
A |Absolute strength I. [Ratio between maximum strength and body weight
B. [Relative strength I1. |Muscle creates tension and shortens
C. |Concentric strength | IIL [Exert maximum force regardless of the body weight
D. [Eccentric strength I'V. |A muscle create less tension than the external resistance

Choose the correct answer from the options given below:

o =

Lo

AL B-II C-I. D-IV
AL B-I, CHIL D-IV
CA-IV, B-I. C-II. D-III
A-III. B-I. C-II. D-IV

el - 19 Q1Y gl - 11 BT e S

LIST I LIST I
(e BT UTPN) (STER)

A fuawifdd | 1 [sifSoad Fidd Ud RRT 99 & H9 0T |

B. [amfgm wiga | 1 [U=h oE ud Bid 8 @l FRUfd I0d Sl e |

C. [dofed Tiad | 111 RRR 9914 0 & Tt fa1 S{i9dhdy §d & 5ad|
D. [Scbisen o IV. [ad Ui §1ed Uid A4 B HUAT HH a-1d 3o Bl &
i fdu U faeedl § 9 9 3R &1 99 Sifoig:

LA B-II. C-I. D-IV
LA B-l. C-JII. D-IV
JCA-IV. B-I. C-II. D-III
4. A-II. B-. CII. D-IV

Al

A2

A3

A4
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Match List I with List

58_Live_PhyEdu_B1_E_101-150.html

I

LISTI

LISTII

. [Discrete variable

I |Characterized by equal units of measurement|

Continuous variable

II. |Cannot be subdivided by less than units

[Nominal scale

ITI. [Non gradient classification

vl fol [==] Jo

. [Interval scale

IV. [Capable of any degree of subdivision

Choose the correct answer from the options given below:

A-IL
. A-IIL
AL
A-IIL

b -

L

B-IV.
B-IV.

B-IV.
B-IV.

C-I. D-III
C-I. D-I
C-III. D-I
C-II. D-I

et - 19 WY Gl - 11 D1 B DI

LISTI

LIST II

[EIEESEER

1. |90 @1 991 S@eal R UG iRid #Xdl 6

[ dd 9%

1. [§o13al © &H QiaYTRed 7ol 14l ofl Ihdl 8|

[qichle Ara-]|

1L [FR-31d T o]

glo|w|=

RIS AT

[Ty o [ o, @ | 9a|

i fau U fasedl § 9§ Il 3TR &1 98 DIfeig:

A-IL
AL
AL
. A-IIL

o =

Lo

Al
A2
A3

A4

B-IV.
B-IV.

B-IV.
B-IV.

C-I. D-II
C-I. D-II
C-III. D-I
C-II. D-I

2.0

0.00
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Match List I with List IT
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LISTI LISTII
IPresenT ability to perform in a variety of
A I coiay [ athletic events or sports, determined by a

combination of basic elements such as
speed, coordination, flexibility etc.

General Motor

" [Capacity (GMC)

. lactivities, ability to perform in big

[Developed capacity, present ability of an
individual to perform in a variety of sports

jmuscular activities requinng neuro
Imuscular coordination.

General Athletic
" JAbility (GAA)

" Ipsvchomotor) activities involving large

[Potentiality of individual to perform in
imany motor (neuromuscular,

range of movement.

General Motor -
B [Ability (GMA) By

[nnate or inborn ability to learn complex
Imotor coordinations.

Choose the correct answer from the options given below:

AL B C-L
A-III. B-IV. C-L
CA-IV. B-IIL C-IL
CA-IV. B-IIL C-L

B

D-IV
D-II
D-I
D-II

Gt - 1 1Y Gl - 11 DT e Pifeig:

LISTI LIST I
_ (%7 Qi SIS a1 Wail § UG &l daH - 217l
A [qie &t L [ifdl, Ge-agH, Gl S o Herd ol d 99T gRI
REESGEE]
] (a1t &FeTT | 37%1 el praichaildl H UG =M @I e oie
p [GTEFT HIER & | | [1 30HH FgdT| 93 AEuRig SHod # 7esE S
N IRtk ) gﬁmﬂTaTﬁEEiﬁwﬁmﬁqﬁuewuﬁﬁamwwmﬁ?ﬁ
[
3] (dDT ATGURITG, AF-H1eY) oA | UGaH &
c [ [Gﬂq”é ew 111 [ it ot 1 i ifa o 71fd &1 g 3 =i
D, [BTE HIER ARG 1, [T IR YH-G0H1 & e 1 A0S 31 ST
i CIRSRY [
14 AU e fgsedl & 4 96l GTR D1 =0 DI
1.A-I, B-III, C-I. D-IV
2.A-I, BV, C-I, D-I
3.A-IV, B C-II, DA
4. AJIV, B C-, D-I
ALy
1
A2y
2
A3
3
Ay
4
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Match List I with List IT

LISTI LISTII
(Indian athlete) (Sports)
A JAchinta Sheuli| I. [Boxing

Sudhir

II. |Para table tennis

TIT. [Weight lifting

B.
C. [Nikhat Zareen
D. [Bhavina Patel

IV. [Para power lifting|

Choose the correct answer from the options given below:

[ S

o

CA-IL B-IIL
ATV, BAIILL
AL B-IVL
AL B-IVD

C-IV. D-I
C-I. D-II
C-I. D-II
C-I. D-II

et - 15 9Ty Gl - 11 DT T Biferg:

58_Live_PhyEdu_B1_E_101-150.html

TIST I LIST 11
(YT YY) . @@
A_ |sife= foraet | 1 [Hadart @rfeam
B. [g9R I [(R7 ¢eai-cig
Cc. [FEdwiFE |1 [HRAeE @efaipm
D. [ifgaruea | v, [owr urer Rifgen
i feu Tt fadedl O U Uel 3R &1 94U Bifo:
1.A-I, B-IIL C-IV. DA
2.AIV, B, CI D-I
3.AII, BV, C-1, D-II
4. A, B-IV. C-I, D-I
ALy
1
A2y
2
A3
3
Ay
4

Asrange the following cities in descending order according to their year of

organization of Asian Games.

A. Manila
B. Busan
C. Incheom
D. Tehran

Choose the correct answer from the options given below :

e
SRR
> 0w w
apon
Hwoeg

0.00
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frafafad el &1 3 TR 9dl & e 9 & BHTaR HRIe Ha 8
Fafeyd P :

A, A

B. g4
c. =3
D. dg¥H

A feu e fap eyl O ¥ gl 3R &1 994 pifo |

e B b
DAk
0 W
apFon
Hwoeg

Al

—_

A2

A3

A4

Objective Question

127 147127 2.0 0.00

Find the correct sequence of fine layers of connective tissue from outward to
mnwards.

A. Perimysium

B. Endomysium

C. Sarcolemma
D. Epimysium

Choose the correct answer from the options given below :

3
4.

TIoie Idb] &1 WRiNPHd URdl &1 Sield! Siqgd! Bi-c &1 HH adigu|

b
>0 oW
OwWpEn

NP wo
W e

i feu T fadedl O U Ul 3wk &1 94U Siforg|

LB.C DA
2.D.A,B.C
3.C.B.A.D
4.A.D,C,B

—_

Al
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A2

A3

A4

Objective Question

128 147128 Sequentially arrange the muscles of the human body according to the proximal

attachment from head to toe :

A. Semimembranosus

B. Gastroenemius

C. Subclavius

D. Extensor digitorum brevis
E. Sternocliedomastoid

Choose the correct answer from the options given below :

[ SR

3.E,C,A,B.

4.C,E,A,B.
OHE-IRR &1 TRUREl o1 R 9 IR d Hocw daual & SHAR 39d o
YT BT -

A. PTG UL (@HEEERE)
B.TRg
C. YloTgeD Uil

D. 3f7ferad weiRoft o o=h
E. JUIE HUHRIT

Hid fau U fadedi O T TEl 3R &1 98- Dl |

IJ!—‘
ampE 0
O o b

P 0P
WD

= el
ggoow

Al

—_

A2

A3

A4

Objective Question
129 47129
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Find the correct sequence of how our sensory input competes for attention and
outlines the process by which skills are then produced.

A. Perception

B. Decision making

C. Initiating the correct response via neural impulses to the body
D. Response

Choose the correct answer from the options given below :

>
Sheke!
now
[vsMs Mlw]

A B.CD

39 T8I o H & 9aigU, forgH g TeR, TR Yddt SMTd &4 &+ & fau
yfaaryf R 3R 39 Ufthd1 o1 =uval 9914 &, o gR1 eiwrd o1 e
fpararar g

A UT&fIH0T
B. i f=mior
C. deR 137 ¥ YRR & H1eHH T el 3febar Bl UR™ BT

D. 3fehar
e fgu T fad eyl § 9 8l SR &1 994 pife |

1
2
G E
4.

i
e
wo o
NnNpw
Owwd

o

Al

A2

A3

A4

Objective Question

130 47130 Find the correct sequence of teaching general lesson plan in physical education. 20 0.00
A. Formal part

B. Special part

C. Introductory part

D. Recreational part

Choose the correct answer from the options given below :

1: BAC. D
2.C,A,B,D
JJAB.C.D
4.C.B.A.D
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YRIR® 181 & 9 ure di-1 & U401 &1 981 v H ddisu|

A. STTETRG HIT

B. faxw ym

C. RE@ Hm
D. FARGI® HIAT

i QU T f[dd el B U Ul 3wk &1 94U Siforg|

P e
npow
W w
> owo
oggog

—_

Al

A2

A3

A4

Objective Question

131 47131 2.0 0.00

Following are the steps of the Health Planning Cycle, arrange them in sequencial
order.

A. Analysis of Health Situation

B. Monitoring and Evaluation

C. Write-up of formulated plan

D. Programming and Implementation

E. Establishment of objectives and goals

Choose the correct answer from the options given below :

P
s Op 0
m
oHOO
NP
o llws R viws]

3.

4. A,
WA (IS =iep & MAARad 2RV 8, 3% ST UITaR o 1 aafeud
DI :

A. TR g3 @] [q=eyr

B. @I U4 Hedieh

C. GATS, TS G

D. PRHH §11 3R fhuragq
E. 3501 Ud A&l 1 R1MUd HIAT

+id feu U fadedi O U Tgl 3Tk &1 994 iy

1.CADEB

2AECDB

3ICCAE.DB

4 A EDC.B
Al
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A2
A3
A4

Objective Question

132 47132 2.0 0.00

Write down the correct sequence of Model Training taxing the anaerobic Alactic
System

A, Warm up

B. Power Training

C. Technical Training of Short duration

D. Maximum strength training

E. Maximum speed and agility training (2 + 8 second)

Choose the correct answer from the options given below :

B e
P
SReNel~
W g
A MmO
mown

SHargdiy gdlfdees YUl O HRGH Uid= UiRigH & Fgl 3 H &I a5y -

A. FIHRT

B. Xifad wfremn

C. 7Y 3{ale] aTel qap-iiid UIRI&fur

D. Sifer@mad wfda wfkiem

E. 3{ftehaH i Td Gafdl UiRiem (2+8 dhs)

i fau T fadedl 5 U Ul 3TR &1 94U Siferd|

AW
>
vnow
W W m g
N MO
mow O

Al

—_

A2
A3
A4

Objective Question
133 47133 2.0 0.00
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Sequentially arrange the following commands of SPSS-21 version for caleulating
Analysis of Covariance (ANCOVA)?

A. General Linear Model

B. Model-Sum of Squares — Type I

C. Univariate

D. Post Test-Dependent variable, Pre-Test Covariate
E. Analyse

Choose the correct answer from the options given below :

[ S

[ it
0P
>oow
DEwO
Wwog

W

HEWERUI- (IR0 (TTepIaT) & R g UF Ul UH TH - 21 PRl &
FrafaRad Tae o o pH J SHaiRyd Sifg|

A g XEg Hred

B. g7 &1 AT AISE - TBU I

C. THR

D. ITR-ULET - ST =R, Jd-ULI&01 - FEHIR]
E. fa=eiyur eoA1

A fdu T foedl o ¥ 95l SR &1 994 pifou|

JearicEs
f
ap P p
POOHE
SIS
Wwoo

S )

Al

—_

A2

A3

A4

Objective Question

134 47134 2.0 0.00

Sequentially arrange the following skill tests in ascending order in the year in
which these were constructed :

. Kemp Vincent Rally Test

. Sherman Rally Test

. Hamer Tennis Ability Test

. Wisconsin Wall Test

. Aloia Tennis Service Return Test

g ow e

Choose the correct answer from the options given below :

i
SESESRS

> o
oMo

e
Wm0 w
O
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Objective Question
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FofRaT SR wieon $1 370 i TF ¥ & 3FER SR 3 &
FafRyd P :

A, PrOfa=He Yol gl

B. YA ot TIEr

C. B8R T g gltem

D. o=+ ara wieu

E. 3agar ef+g fdy fred odtem

1 fau Y faedl ® U Hel TR &1 99 By |
1.LA.D.B.C.E
2.D,A.C.B.E
3:D:AB B, C
4. D,A B.C.E

Al
1

A2y
2

Ads
3

Ay
4

Arrange the official ranking order of the states in ascending order for the 3rd
Khelo India youth games

A, Kerala

B. Manipur

C. Karnataka
D. Maharashtra
E. Haryana

Choose the correct answer from the options given below :

o =

o

P o0
apo»

Onwo
W e

a0

AR WS ST gl Weil - 8 HRIE! o1 U Ie] Bl D1 epT1 b1 Bl
AT DI |

A PR
vl
= g
i fau U fas el O U TEl 3Tk &1 98 Bifoiy|

1o =
i It

> OO0
SNowy

B
o0y
oe s oy
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136

137

Objective Question

47136

Objective Question

47137
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Al

A2
A3

A4

Given below are two statements : 20
Statement I : To start quickly in one direction keep the center of gravity as low as

possible and as near possible to the edge of the base nearest to the direction of

intended motion.

Statement II : To stop quickly when in rapid motion. drop the center of gravity as
low as possible, consistent with subsequent movements, create as great an area of
base as possible. and move the center of gravity away from the edge of the base
that is nearest the direction of movement.

In the light of the above statements, choose the correct answer from the options
given below :

. Both Statement I and Statement II are true

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

Hu 1 : ot femm & Aot ¥ URY % 8 1o $5 TuRivg 5 qut spfiy
TTfd B T2 g GHa YR & $R e 1@ 91feu|

HUA 1 : K 71 & ARM doll 9 95 8. 15 D= DI FURIUG Faid GaaHi
P 1Y FRER T S TURIYE SR &7 1 A9 T 3R MR BT BR
T R T X 1 HaeH P faxn & Todl® gl 3

ST Y- & Tale §, i Ru e fadbeui ¥ 3 968 Iugad I & 997
PIfoIT -

b =

L. PYF AR I GH TT§

2. HYF 1 SR I EHT ST §

3. YT 1 I B, AP HYT I 3T ©
4. PU HII T, AP YT 1 a8

Al

A2

A3

A4

2.0
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138

Objective Question

47138
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Given below are two statements :

Statement I : When a group feels distinct, its feelings of unity and oneness
decrease.

Statement IT : In sport distinetiveness is traditionally achieved through team
uniforms and mottoes.

In the light of the above statements, choose the correct answer from the options
given below :

. Both Statement I and Statement II are true

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

BYA 1 : O1F Blg THE THED Hegd BdI ¢ dl SUS| Uhdl SR T &1 HIGA1T
Y Bl @l

FUA 11 : I 8 UHSHI S BT a9-UET 3R 1] ared & AT ¥ URM RS
U UG P E B

SWRIK BY1 & Sl 3, - [§U T fadeul § 3 9ad Suge 9wk &1 997
FIfor :

[

1. FYTI AR IS T

2. FYF I AR I A ST §

3. YT ITA R, AP HYT 11 3T §
4. P IIR. AP FYT I TR

Al

A2

A3

Ad

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Improvements to physical condition are based primarily on the
overload principle.

Reason (R) : Overload principle holds that the capacity to respond improves only
when the demand placed on the body increases.

In the light of the above statements. choose the most appropriate answer from the
options given below :

. Both (A) and (R) are correct and (R) is the correct explanation of (A).

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
. (A) is correct but (R) is incorrect.

. (A) 1s incorrect but (R) 1s correct.

O
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T A FUTGU T T : TP MDY Assertion (A) T =9 T AR & A g8RT

JTP BRI Reason (R) FEAH:

a@%ﬂgm (A) : i AR F FuR wrufie 0 9 SfauR Risia & snaia
|

BRUT(R) : HAUR R & TR ofd IR &1 €1 &l gig o= 7 3 ot 2.
3T 8 &ar axl QUR ST 8 1

SWRIT HY & Sl 4, 4 3T 7Y fadpeul § 9 969 Suge Wk &1 997

(A) 3R (R) T TE § 3R (R). (A) B! & AT B

(A) IR (R) ST €1 €. AP (R). (A) T TS AR TET 1
.(A) U8l &, A (R) TEI T8I &

(A) TET T8l B, 9fdp (R) TEI B

L

= W

Al

—_

A2

A3

Ad

Objective Question

139 47139 2.0 0.00

Given below are two statements :
Statement I : In analysis of covariance the initial means are adjusted for difference
in final means and the adjusted means are tested for significance.

Statement I : The advantage of using analysis of covariance is that analysis of
variance is first computed for the difference between initial means and a
significant F-ratio indicates that the initial sample come from the same population,
so 18 devoid of sampling bias.

In the light of the above statements, choose the correct answer from the options
given below :

. Both Statement I and Statement I are true
. Both Statement I and Statement II are false
. Statement I 1s true but Statement II 1s false
. Statement I is false but Statement II is true

[

o
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YT 1 : TR fazadyor I SR Oreg sifan areg ¥ ofar & fow somifoa
g 9 § 3R THEIS J7e Tl & o] TRifed [ 9 § 1

U 1T : FEVRRYI fIEN0] 3 UaRT &1 @1y I8 § &b U1 &7 faweeor gdyum
R A1t & o1 R 31 IRT0F & forg fovar wrar § ok Tew quf £-
3UTE T8 SF1d P & [ skfeufaey ue 99 snerdt S faar mar .
gafon Hfaee gemmd-fRa B

SWRITT HY & {Tale 1, i 3T T fadheul § 3 96 UG 9wk &1 997

L. HYT I AR IS T

2. FUTI AR I EHT 3TA T

3. FHUTI T . AP HUT I 3T ©
4. P TI R AP dYT I I e

Al
A2
A3
A4

Objective Question

140 147140 2.0 0.00

Given below are two statements :

Statement I : In norm-referenced testing, the major concern is whether individuals
reach an established level of performance regardless of how well other individuals
do.

Statement II : In criterion referenced measurement. the relative performance of
students is assessed and 1s the basis for the grading system in Physical Education.

In the light of the above statements, choose the correct answer from the options
given below :

. Both Statement I and Statement I are true

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false
4. Statement I is false but Statement II is true

ko =
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FUA 1 - Frm-gefifa whem &, e WeR 78 § 5 39 oofda e &
T R Igad §. 997 59 b o e 39 R TR o4 95 81|

BUF 11 : AFES Seftia A= &, SH! & 9l yes geaifed fear e s
IR e e & ST sl @1 snuR 1

SR BY & Sl 4, i 3T 7Y fadeul ¥ 9 969 Suge IR &1 997

L. BT IR SH T &

2. FUTI AR SHI 3TT T

3. YT E, AT HYT I 3T ©
4. P TI R AT pUT I aT©

Al
A2
A3
:A4

Objective Question
141147141 Read the following passage carefully and answer the questions that follow:

Data on anxiety level using Sports Competition Anxiety Test (SCAT) questionnaire
by Rainer Martens was collected on 50 players of different groups of sports
namely : Individual Sports (10). Racket Sports (10), Water Sports (10), Team
Sports (10) and Combat Sports (10). After collection the data was analysed using
One way Analysis of Variance (ANOWVA) and as a result for Individual Sports

(3X1 = 167). Racket Sports (3Xz = 153). Water Sports (3 X3 = 119). Team Sports
(XX, =198) and for Combat Sports (3 X5 = 197). Further analysis of data revealed
for Individual Sports (3 --> X12 = 2827). Racket Sports (Y X3 --> X22 = 2373).
Water Sports (EX% --= X32 = 1437). Team Sports (Y X 3 --> X42 = 3956) and for
Combat Sports (YX2 = 3933). The tabulated F value at 0.05 level of significance
with degree of freedom 4. 45 was formed to be 2.58.

Which is the value of Total Sum of Squares (TSS)?

.614.88
.614.68
.614.86
.641.88

O
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Fufafad o eFgde ue 3R id 6T T gyl & 3w E:

wd Uyl giEar gdem (Ui ud,) yyideh &1 UgiT &id g R #e0 A F-R’
mﬁ%@ﬂﬂ@%so@aﬁﬁlﬁ&mmﬁﬂﬁa% IEREEIESUG]

Y@ Gat (10), STa-Gaet waf (10), 1 Q! (10) 3R FHEE @Al (10) ( E@a‘@r
@aﬁﬁmw%w|mw$um&mﬁwwww
(T 1 WG $d g [axefid faan o1 7R uume W&y sfaaTd ©al 9 (53X, =

167), ¥dhe Wal Y (3%, = 153), 9 Wal U (3, = 119), TH G G (TX, = 198) 3R
THEE Wadl 9 (3Xs = 197) 3ids U g0 Side & 3R 314w &axamo & gy
G el § (32> X12 = 2827), Y WAl H (3x2 > X22 = 2373), & Gaielt
Gl ¥ (yx2 --> X32 = 1437), T Gell ¥ (3x2 --> X42 = 3956) 3R AT Gail §
(X2 = 3933) B TUH 33 TR §YI WA=-BIe 4, 45 P WY Wefal ¥R 0.05
R GRUIES F P A 2,58 W g |

& & Fd AT (TSS) BT I fdoa1 81 2

1.614.88
21.614.68
3. 614.86
4.641.88
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Read the following passage carefully and answer the questions that follow:

Data on anxiety level using Sports Competition Anxiety Test (SCAT) questionnaire
by Rainer Martens was collected on 50 players of different groups of sports
namely : Individual Sports (10). Racket Sports (10), Water Sports (10), Team
Sports (10) and Combat Sports (10). After collection the data was analysed using
One way Analysis of Variance (ANOVA) and as a result for Individual Sports

(¥X1 = 167). Racket Sports (3X = 153). Water Sports (3 X3 = 119), Team Sports
(32X, = 198) and for Combat Sports (3 X5 = 197). Further analysis of data revealed
for Individual Sports (3°7 --> X12 = 2827), Racket Sports (3 X2 --> X22 = 2373).
Water Sports (Y X2 --> X32 = 1437), Team Sports () X} --> X42 = 3956) and for
Combat Sports (ZXE = 3933). The tabulated F value at 0.05 level of significance
with degree of freedom 4, 45 was formed to be 2.58.

Which of the following are correct for the calculated value of F-ratio?

A. Hypothesis is rejected.

B. Hypothesis is accepted.

C. Calculated F = Tabulated F0.05 (4. 45)

D. There is significant difference among group means.

E. There is no significant difference among group means.

Choose the correct answer from the options given below :

1.B.C.E only
2.A.C.E only
3.A . C.Donly
4. A. C.D.E only

fofafag o eryds ue 3R 9 5w 1w & S e

g ufeRael i alie @E g2l gurach o whT o3d §Y R AE 4 gfiid R
R faftr Od Ul & so@aﬁﬁlﬁ&mkmmdﬁaﬂ for# safdmTa Wil (10),
XFe Fal (10), To-GaH i (10), T Jal (10) IR FHEG Tl (10) (BHe) T
WWWWHIWW$H%&WﬁWWW

(T Ta) W1 W @ gU faxefid fovan o1 iR oftoms oy sfaaTd @l 9 (5%, =
167), YPe WAl Y (35X, = 153), 96 WAl G (3X3 = 119), AT el ° (3%, = 198) AR
THTE Gl © (5X5 = 197) Hide UTa Y| SHide & iR i G=ewo & gy
ST el § ( 33> X12 = 2827), Y Wall H (3x3 > X22 = 2373), &< et
el ¥ (5x2 --» X32 = 1437), A Wil H (3%3 --> X42 = 3956) AR FAMHI Tl F
(3%2 = 3933) @ ©U H 3HiPs YA gUI WIAH-DIC 4, 45 & Y W] TR 0.05
IR URUieg ' @1 J1F 2.58 U g3

F-30Td & URDed H1H & Feul # Fafeiad 59 &H 3 9el 82

A. IR srdiga 71

B. TR& e Wipa 8|

C. IR F > ARUIESG Fy g5 (4. 45)

D. THg Wedl & s Agayuf 945 3

E. THg 9141 & i Big Aoyl 98 el o

- fau g fas et & I el SR &1 997 S|

1.9ddB.C.E
2. P4A A, C.E
3.H4A A, C.D
4. Pdd A, C.D.E

Al
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Objective Question
143 47143 Read the following passage carefully and answer the questions that follow:

Data on anxiety level using Sports Competition Anxiety Test (SCAT) questionnaire
by Rainer Martens was collected on 50 players of different groups of sports
namely : Individual Sports (10). Racket Sports (10), Water Sports (10), Team
Sports (10) and Combat Sports (10). After collection the data was analysed using
One way Analysis of Variance (ANOWVA) and as a result for Individual Sports

(3X1 = 167). Racket Sports (3Xz = 153). Water Sports (3 X3 = 119). Team Sports
(XX, =198) and for Combat Sports (3 X5 = 197). Further analysis of data revealed
for Individual Sports (3 --> X12 = 2827). Racket Sports (Y X3 --> X22 = 2373).
Water Sports (EX% --= X32 = 1437). Team Sports (Y X 3 --> X42 = 3956) and for
Combat Sports (YX2 = 3933). The tabulated F value at 0.05 level of significance
with degree of freedom 4. 45 was formed to be 2.58.

Sequentially arrange the following steps for calculating One Way Analysis of
Varaince (ANOVA)?

A. Correction Factor (C.F.)

B. Sum of squares between groups (SS)b
C. Total sum of squares (TSS)

D. Raw sum of squares (RSS)

E. Sum of squares within groups (SS)w

Choose the correct answer from the options given below :

peaie
>
WO 0o
9nUn
0w
[esllesMesve]

o)
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U Wal U (3Xs = 197) Hidhs U gul &m%aﬁis{%mﬁw?ﬁum
G el § ( 32> X12 = 2827), Y Wall H (3x2 > X22 = 2373), 5 Gaielt
el ¥ (3%2 --> X32 = 1437), AT WAl F (53 --> X42 = 3056) 3R JHTE Sal I
(X2 = 3933) P ©UH 3P YA gU| WIH-BIIC 4, 45 & WY Wbl T 0.05
R GRUIESG F P A 2,58 W g |

T 9Y TR [GR0iN0) RS e o HafeRad S| @ $ipH H ouaiid
Fiferg|

A. RN BRSD (CF)
B. 9HE! & Ted &1l &1 41 (SS),

C. a7l &1 o TRT (TSS)

D. G &1 SARSsd I (RSS)
E. 9O & 97 &1 31 (s8),,

i feu Tt fa@ed! § U Ul 3R &1 99 Biford|
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Read the following passage carefully and answer the questions that follow:

Data on anxiety level using Sports Competition Anxiety Test (SCAT) questionnaire
by Rainer Martens was collected on 50 players of different groups of sports
namely : Individual Sports (10). Racket Sports (10), Water Sports (10), Team
Sports (10) and Combat Sports (10). After collection the data was analysed using
One way Analysis of Variance (ANOVA) and as a result for Individual Sports

(¥X1 = 167). Racket Sports (3X = 153). Water Sports (3 X3 = 119), Team Sports
(32X, = 198) and for Combat Sports (3 X5 = 197). Further analysis of data revealed
for Individual Sports (3°7 --> X12 = 2827), Racket Sports (X2 --> X22 = 2373).
Water Sports (Y X2 --> X32 = 1437). Team Sports (Y X3 --> X42 = 3956) and for
Combat Sports (YX2 = 3933). The tabulated F value at 0.05 level of significance
with degree of freedom 4. 45 was formed to be 2.58.

Given below are two statements :

Statement I : Post hoe test for the comparison between paired means is applied
when the hypothesis is rejected or not accepted following a significant Analysis of
Variance (ANOVA) F-ratio.

Statement IT : If critical difference is greater than the mean difference for a given
level. then there is significant difference between paired means.

In the light of the above statements. choose the correct answer from the options
given below :

Both Statement I and Statement II are true
Both Statement I and Statement IT are false

3. Statement [ is true but Statement II is false

4. Statement I 1s false but Statement II is true
ey @ aryde ug <R 919 e ™ wif & I e
g ufeRael i adie @UAg ) gl o 1 H3d §Y R AeU A T
R faftr Od Ul & so@aﬁﬁlﬁ&mkmmdﬁa@i for# safdmTa Wil (10),
XFe Fal (10), To-GaH i (10), T Jal (10) IR FHEG Tl (10) (BHe) T
faanfeat &1 9o faarar | &mwaﬁum&mﬁwww
(GATAT) T TN SR gU FaRaiia fepan o SR Uik ey e |al 9§ (53X =
167), YPe WAl Y (35X, = 153), 96 WAl G (3X3 = 119), AT el ° (3%, = 198) AR
THTE Gl © (5X5 = 197) Hide UTa Y| SHide & iR i G=ewo & gy
ST el § ( 33> X12 = 2827), Y Wall H (3x3 > X22 = 2373), &< et
Gl ¥ (3%2 --» X32 = 1437), EH Gall ¥ (3% 2 --> X42 = 3956) 3R FAMYE Tail ¥
(3%2 = 3933) @ ©U H 3HiPs YA gUI WIAH-DIC 4, 45 & Y W] TR 0.05
R 9ROfIEg F* &l A 2.58 Ut gl

R b

P 1 : RId Tl & o9 gal & (oY UREgIS URI0 a8 Svged feha
ST § 916 IR SRd1Pd il § 91 He@qul HeRvT fa=eNoT (@) F-

ST BT I WIPR el Pl ¢

HU 11 : 76 Sifad SR, fed T TR & A1 SieR ¥ s4f¥es g &, o gfifra
A1t & o He@yul SiaR giaT 8

SR HY & Tl 1, - (34U 7Y fdedl d 3 e I9ge S 31 997
B :

FYTI RIS TI &

FYTI AR 1 ST 3T &

FYT I I 5. AfPT HYT I 3T &
FYTI I . AT pYT 1 g &

b e

= W
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145 47145 R = % = i z 2
ead the following passage carefully and answer the questions that follow:

Data on anxiety level using Sports Competition Anxiety Test (SCAT) questionnaire
by Rainer Martens was collected on 50 players of different groups of sports
namely : Individual Sports (10), Racket Sports (10), Water Sports (10), Team
Sports (10) and Combat Sports (10). After collection the data was analysed using
One way Analysis of Variance (ANOWVA) and as a result for Individual Sports

(3X1 = 167). Racket Sports (3Xz = 153). Water Sports (3 X3 = 119). Team Sports
(32X, = 198) and for Combat Sports (3 X5 = 197). Further analysis of data revealed
for Individual Sports (3 --> X12 = 2827). Racket Sports (Y X3 -->X22 = 2373).
Water Sports (EX% --> X32 = 1437). Team Sports (3 X3 --> X42 = 3956) and for
Combat Sports (:X‘ = 3033). The tabulated F value at 0.05 level of significance
with degree of freedom 4. 45 was formed to be 2.58.

Match List I with List IT

LISTI LISTII
A_ |Sum of Squares between groups (S5} I |27.438
B. [Raw Sum of Squares (RSS) II. |13911.12
C. |Calculated F-ratio III. |436.08
D. |Correction Factor (C.F) IV [14526

Choose the correct answer from the options given below:

1LA-IV. B-III. C-I. D-II
2.AJIL, B-II. C-I, D-IV
J.AIL B-IV. C-II. D-I
4. A, B-IV. CI. D-II
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G el § ( 32> X12 = 2827), Y Wall H (3x2 > X22 = 2373), 5 Gaielt
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(X2 = 3933) P ©UH 3P YA gU| WIH-BIIC 4, 45 & WY Wbl T 0.05
R GRUIESG F P A 2,58 W g |

I - 1% F1Y A - 11 DT e BIe:
LIST1 LISTO
OOgi @ A G @l an| L p7.438

T U T | 1L [13911.12
R@icd F-odd | 1L [436.08

gRisg @R (CE) |1V 14526
A4 fau e faered! & 9 98 3R &1 904 Bifort:

=) fed 1= I

A-IV. B-lIIl. C-I. D-I
A-III. B-II. C-I. D-IV
A-III. B-IV. C-II. D-I
A-III. B-IV. C-I. D-II
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Read the following passage carefully and answer the questions that follow:

Four runners namely Arvind, Ashish, Anmol and Arpet have exactly the same
weight of 175 pounds. They are running on 4 synthetic tracks having different
radius with the same velocity of 30 feet/sec?. The force of gravity on all the
synthetic tracks is considered to be constant 32 feet/sec?. Arvind is running on a
synthetic track which has a radius of 125 feet. Ashish on a track with a radius of
100 feet, Anmol on the track with 40 feet radius and Arpit on a track having radius
of only 10 feet to find out the force which pull them out of the lane at the turn or
how much force is needed to permit them to follow the turn of the track? This the
force that tends to pull or throw the athlete off his course when he is running.

Which is the value of the force that tends to pull Ashish, if the radius of the track is
110 feet?

. 44.74 pounds
. 44.47 pounds
. 47.74 pounds
. 45.74 pounds

FafRad o1 ergde gg ok T AU 7 ugl & SR Qe

RIS, SRy, SIS SR AU 1% IR UIae| &1 [depd 61 ¢71 4 Uh
T YR 175 9198 B 9 IR 916 Tl )R 318 % &, fora! foear i €. dfd
TS GO a7 30 eSS & | it 41a 9ol R [F@reyul §d Hfdwd 32 Pe/
Y2 THET Ol1dl § | SRIA< TF $HAT U199 UY UR 413 61 8. o] (e 125
BT 3. 3R 100 Fe I HS1 aTd 915 9 R &1S 61 6. 35 40 Be
20T aTdt oTe U W a1S 381 § 3R Affd 39 a6 &1 udr a7 & 70 $ad 10
e I A1 aTd 16 0y IR <13 381 § 9l US| H18 &1 o (TY) ¥ S |id
A1 g A1 941G UY & HIS & 1 3 &7 & AT fbaT 9 o
87 U8 98 99 ¢. ol UYdiie & ole- IR Wig- & Haul 81d U1 39 0= 0y g
SR Hbd &l g

b =

=

9 &1 0 1 1, 511 7RIS 1 Wi, afe 39 1= 9y 1 B 100 42 g 2

1.44.74 UGS
2. 4447 U39
3.47.74 U389
4.45.74 9135
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Read the following passage carefully and answer the questions that follow:

Four runners namely Arvind, Ashish, Anmol and Arpet have exactly the same
weight of 175 pounds. They are running on 4 synthetic tracks having different
radius with the same velocity of 30 feet/sec?. The force of gravity on all the
synthetic tracks is considered to be constant 32 feet/sec?. Arvind is running on a
synthetic track which has a radius of 125 feet. Ashish on a track with a radius of
100 feet, Anmol on the track with 40 feet radius and Arpit on a track having radius
of only 10 feet to find out the force which pull them out of the lane at the turn or
how much force is needed to permit them to follow the turn of the track? This the
force that tends to pull or throw the athlete off his course when he is running.

Which is the value of the force that tends to pull Arvind. if the radius of the track is
70 feet?

. 70.51 pounds
. 69,31 pounds
. 70.13 pounds
. 70.31 pounds

FafRad o1 ergde gg ok T AU 7 ugl & SR Qe

RIS, SRy, SIS SR AU 1% IR UIae| &1 [depd 61 ¢71 4 Uh
T YR 175 9198 B 9 IR 916 Tl )R 318 % &, fora! foear i €. dfd
TS GO a7 30 eSS & | it 41a 9ol R [F@reyul §d Hfdwd 32 Pe/
Y2 THET Ol1dl § | SRIA< TF $HAT U199 UY UR 413 61 8. o] (e 125
BT 3. 3R 100 Fe I HS1 aTd 915 9 R &1S 61 6. 35 40 Be
20T aTdt oTe Uy W a1S 81 § 3R Affd 39 a6 &1 udr a7 & 10 $ad 10
e I A1 aTd 16 0y IR <13 381 § 9l US| H18 &1 o (TY) ¥ S |id
A1 g A1 941G UY & HIS & 1 3 &7 & AT fbaT 9 o
87 U8 98 99 ¢. ol UYdiie & ole- IR Wig- & Haul 81d U1 39 0= 0y g
SR Hbd &l g

b =

=

9 DT T 1 51, it 3Rfa< I G, afe 39 uied gy &t fsar 70 Be g 2

70.51 ARGS9
69.31 U39
70.13 T3S
70.31 T3S
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Read the following passage carefully and answer the questions that follow:

Four runners namely Arvind, Ashish, Anmol and Arpet have exactly the same
weight of 175 pounds. They are running on 4 synthetic tracks having different
radius with the same velocity of 30 feet/sec?. The force of gravity on all the
synthetic tracks is considered to be constant 32 feet/sec?. Arvind is running on a
synthetic track which has a radius of 125 feet. Ashish on a track with a radius of
100 feet, Anmol on the track with 40 feet radius and Arpit on a track having radius
of only 10 feet to find out the force which pull them out of the lane at the turn or
how much force is needed to permit them to follow the turn of the track? This the
force that tends to pull or throw the athlete off his course when he is running.

Which of the following statements are not correct?

A. Force that tends to pull Ashish is greater than Anmol.

B. Force that tends to pull Anmol is greater than Arpit.

C. Force that tends to pull Arvind is lowest.

D. Force that tends to pull Arpit is greater than Anmol and Ashish.

Choose the correct answer from the options given below :

A.B. D only
.A. C.Donly
.A.Bonly

.A.B. C only

FafRad o1 ergde gg ok T AU 7 ugl & SR Qe

RIS, SRy, SIS SR AU 1% IR UIae| &1 [depd 61 ¢71 4 Uh
T YR 175 9198 B 9 IR 916 Tl )R 318 % &, fora! foear i €. dfd
TS GO a7 30 eSS & | it 41a 9ol R [F@reyul §d Hfdwd 32 Pe/
Y2 THET Ol1dl § | SRIA< TF $HAT U199 UY UR 413 61 8. o] (e 125
BT 3. 3R 100 Fe I HS1 aTd 915 9 R &1S 61 6. 35 40 Be
20T aTdt oTe Uy W a1S 81 § 3R Affd 39 a6 &1 udr a7 & 10 $ad 10
e I A1 aTd 16 0y IR <13 381 § 9l US| H18 &1 o (TY) ¥ S |id
A1 g A1 941G UY & HIS & 1 3 &7 & AT fbaT 9 o
87 U8 98 99 ¢. ol UYdiie & ole- IR Wig- & Haul 81d U1 39 0= 0y g
SR Hbd &l g

b=

=

EE NI R R e E IR 1

A. TG, 5T 39 &1 Wie- &1 Ugd BId1 7. 98 SFHE @1 ga-1 5 gewR ol

B. S, Sl S{THI I W4 I Ugw 8Idl 6, 98 ifUd Bi ol 4 gewR ¢ |

C. T, S 3RfG=< &f Eien &I ¥gd gidT &. 98 a9 ¢ |

D.aﬁaﬁ%{a{fﬁaﬁ“@?ﬁﬁm@m%ﬂ?mﬁﬁaﬁw{mﬂwﬁwﬁ
FER el

=4 feu U fasedl & 9 981 SR &1 994 iy |

1. $dd A, B.D
2.PAAA. C.D
3. Pad A, B

4. BGA A, B.C

ALy
1
A2y
2
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Objective Question

149147149 Read the following passage carefully and answer the questions that follow:

Four runners namely Arvind, Ashish. Anmol and Arpet have exactly the same
weight of 175 pounds. They are running on 4 synthetic tracks having different

radius with the same veloeity of 30 feet/sec?. The force of gravity on all the

synthetic tracks 1s considered to be constant 32 feet/sec?. Arvind is running on a
synthetic track which has a radius of 125 feet, Ashish on a track with a radius of
100 feet, Anmol on the track with 40 feet radius and Arpit on a track having radius
of only 10 feet to find out the force which pull them out of the lane at the turn or
how much force is needed to permit them to follow the turn of the track? This the
force that tends to pull or throw the athlete off his course when he is running.

Given below are two statements :

Statement I : When the radius of rotation of the synthetic or cinder track becomes
small. the magnitude of the centrifugal force increases.

Statement IT : To offset the magnitude of the centrifugal force the runner either
leans in towards the point about which he/is turning or runs on a banked path.

In the light of the above statements, choose the correct answer from the options
given below :

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true

[ S

o
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0 aTd eTa Uy IR 1S TeT © SR 2ffd 30 6 &1 uar aH & i bad 10
B B (A arl 4169 Uy TR AIS 61 € Ol 3! HIS 1 oH (9Y) U aIex |id
SdT § a1 UG Uy & 1S & DI 3AMd & & oY foh a1 901 o
87 U8 98 99 ¢. ol UUdiie & ole- IR Wid &I Haul 81dT U1 39 0= 0y g
TET Y d dT o

T e Ry &

HYA 1 : Od ST AT RS 419 U BIel 41 11 § dl U519 §d o Uiy
Aol g gl

PUFIL : U5 §d D YRUTH I G168 e (3HHee) & [T yrasd a1 df 39
faig @1 oiR Yol &, foreh AR H 98 43 @1 6 g1 deid Uy R alsdl o

SWRIKI HY & {dles 1, 4 [3u T, fasenl ¥ 9 968 Iugad SR &1 90
I I:

1. FYF IR EH Td &

2. PUTI AR I EH 3T &

3. YT I TR, AT HY 11 3T &
4. FYF 1 TR, AP pUT I 9 8
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Read the following passage carefully and answer the questions that follow:

Four runners namely Arvind, Ashish, Anmol and Arpet have exactly the same
weight of 175 pounds. They are running on 4 synthetic tracks having different

radiug with the same velocity of 30 feet/sec?. The force of gravity on all the

synthetic tracks is considered to be constant 32 feet/sec?. Arvind is running on a
synthetic track which has a radius of 125 feet. Ashish on a track with a radius of
100 feet, Anmol on the track with 40 feet radius and Arpit on a track having radius
of only 10 feet to find out the force which pull them out of the lane at the turn or
how much force is needed to permit them to follow the turn of the track? This the
force that tends to pull or throw the athlete off his course when he is running.

Match List I with List IT

LISTI LISTII
. [Force tends to pull Ashish| I. B9.22 pounds
[Force tends to pull Anmol| II. 492 19 pounds
[Force tends to pull Arpit | II1 |123.05 pounds
. [Force tends to pull Arvind| IV |39.375 pounds

vl o] [>=] F=2

Choose the correct answer from the options given below:

1.A-I. B-III. C-II. D-IV
LA B-I. C-II. D-IV
J.A-IL B-III, C-I. D-IV
4. A-IV. B-III. C-II. D-I

ffeiad @ eryde ue Sik Aie 14U 0 Uil & SR Sifee:

3Rfawe, smefy, sFE 3R siftid T1H® IR Uas! &1 facga 3e 13 U6
T HR 175 U198 ¢ 1 4 IR Y19 U4l R <15 %8 8. fomat B fam 8. afa
TS GO a7 30 Fe/dds ¢ | it 4197 92l R [F@reyu 4 Sfdvd 32 P/
YHs? g oIl ¢ | 3RIA< UTE ST 91a7 9y IR 315 361 8. fomat e 125
Be B, Y 100 Be 3T BT aret 419+ 9y R &1S 8T 8. AT 40 Be P
2101 aTet eTe 9y W 31S Y61 § SR Sfffd 39 56 &1 yar a7 & 1w $ad 10
e B BT ATt 9Ta 7Y TR G1S 361 € O SUS! AlS & o (9Y) T ST Wid
AATE YA Y & AIS DI A & & oY food aa sma<ae
©7 U% 9% 99 ©. O UYdie & Sle- IR I & Wavul glal o1 39 M= uy g
CIEEIETIR

Gt - 1 1Y gl - 11 BT FdH DI

A1 & 10
(a1 SR @l Wi ®l ygd elal ol | 1 [49.22 Trdsw
(&1 SIS ol Wia- @i ygd aidl o] 11 [492.19 TSsw
901 31ftd @ Wigd @i ygd el o | 111 [123.05 TS8H
. |59 oRTa @1 @ie & ugd aidl & 1| IvV. [39.375 o959

i< fau U fadedl O 9§ Il 3R &1 98 DIfeg:

glo|w|e

1.A-L. B-III. C-II. D-IV
2LAJIL B-I. C-II. D-IV
3.A-IL B-III. C-I. D-IV
4. A-IV. B-III. C-II. D-I

ALy
1
A2,
2
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